(30 to 99)

Write in words

thirty

Complete the sequence of multiples and circle the ones which are larger than

r Y
Circle the facts bigger ihan 6 12

\

s | 16 24132 40| 48] 56| 64| 72| 80| 88| 96
<+ $ ~ - - ~ - e >
6 | 2|18 ]24]30[36]42]48]54]60]66]72

7x8|[litx12]{l exs]|(liox8] 8x3 1
X . X X X 9 18 27|36I45I54I63 72 | 81 | 90 | 99 1108
3x7 |[7x7)|[12x5)| sx4 [[ox1 0 = = = = =
7 [ | 21 I 2 I 2 I
8 x4 3x6 3x9 11 x5 6x7 L A A 8 35| 4 491*56*63“70“77“84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 30 3 0 factor pairs of
ox3x2 [ 60 > 30 | @0 30 x 0 3 0 30
30 =10 3¢0
30 90 | 6x5x3 —3
[ ) 30 x0o 3, 0|0 O Iand 30
5x 0x5 [250 > 9O]BX® 30 - 100 _O_-3 O_ 2 and 15
+|50 “80 < 240 20x6x2
3 and 10
D E— Y cm—*, cm
2x9%x5 [ 90 > 30} f
What 1i|: the pt:rin‘;e:er c:'F What is the o) Cmd 6
's recfangle! erimeter of
-20 [ 10 < 28 | 7x2x2 (2x60)+(@2x30) wm| | ‘i square )
' =120 + 60 4 x 30cm Write at least 6 questions with the
3x7x2 @ -0
k x 7T x ‘ 42 > 20 ] ) - 180cm = 1.8m = 120cm = 1.2m answer of
30 « 1= 30 30 - 4 = 7rZorTior75 Circle the numbers which are smaller than 30 There are many
30 +3=10 30 “2=15 XXX (301 LV (55) X1 (61) C (100) different questions you
. — 3r6or 303 g = i .
30 8= o7 30 “6=5 LXXXI(81) Ll (51)| LXXIV(74) LVIII(58) could pick
30 =5= 6 30 =7 = 4r2ord2/7 XL (40) CcX (110) XCl(91) XXXIX(39) Ask a classmate to
30 <0< 3 30) -9 = For3us XXXI (31 LXI (62) L (50) XCIX(99) check your questions.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ thirty one o | 16 [24]32]40]48]56]64]72]80]88]09
; < > = = = = — = =
Cirele the fscs biger han((3L) e | 218 24]30]36]42]48]54]60]066]72
7x8|(Inxn2)|fexs|floxs8] 8x3 1
2 518 || [6u6] || [5:3) ax o | 18 27|36|45I54|63 72 | 81190 | 99 |108
3x7 || 7x7 ||2xs| sx4 [ox1 s s e e e |
IBIcs AEEE I 2 I
8x4 3x6 3x9 IIx5 6 x7 \_ A A 8 35 4 49ﬁ56ﬂ63ﬁ70§77ﬁ84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 31 3 1 factor pairs of
10x3x2 [ 60 > 31]@ 31 * 3|1 0 31
31 =+ 3¢ 1
31 < 90 | 6x5x3 -
@ [ ] 30 xi00 3| 1[0 0 land 31
Sx10x5 [250 > 93} BXGQ) 31 =+ 100 0+ 3 1
@+ 150 L 181 « 240 20x6x2
— 2 x@cm—" cm
2x9x5 [ 90 > 31}@ f
What 1i}s1 the ptterirr;e:er of What is the
's recfangle! erimeter of
@ (1 28] || ouen G o R tquare? ,
' =124 + 62 4 x 31cm Write at least 6 questions with the
3x7x2 @ - 10
\ x7Tx ‘ 42 > 21 ] ) - 186¢cm = 1.86m J, = 124cm = 1.24m answer of
_ 4= 7r3or 72
31 ~1=3 31 -+ or7.75 Circle the numbers which are smaller than 31 There are many
_ . _ 15rlor 153 . .
31 +3=tonetoys [(37) 2= "0 XXX (30] LV (55) X1 (61) C (100) different questions you
. - . _ brlor51/5 N
|81 +8= sorsz 1031 < 6=, IXXXIsn) Ll (51)| LXXIV(74)  LVIII(58) could pick.
6rilor 6 1/5
31 5= e 31 =7 = 430r43/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
31) < 10= VIO @Y 9= uass XXXI(31)  LXl(62)  L(50)| XCIX(99) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ thirty two o | 16 [24]32[40]48]56]64]72]80]88]09
; < > <> = = = — = =
Circle the facts bigger rhan@ 6 | 12 |18 | 24 |30 |36 | 42|48 | 54|60 66|72
7x8 |[{1ix12)|]ex8 |||lox8]| 8x3 1
20 || | 2 . 9 | 18 27|36|45I54|63 72| 81|90 | 99 | 108
3x7 |7x7 2x5|| sx4 [[ox p————g — o — ——
7 [ ]at] 28 35142149 56 | 63 | 70 | 77 | 84
8x4 3x6 3x9 IIx5 6 x7 \_ A A o - .. ’ b\
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f )
write 2 symbol <, > or = 32 3 2 factor pairs of
0x3x2 | 60 > 32]@ 32 x 10 3/2 0 32
32 =10 3¢2
32 < 90 | 6x5x3 -
@ [ 2 ] 32 xloo 3|20 O land 32
5x 10x5 [250 > 96]3)‘@ 32 +|gg_ _O_‘3 2. 2 and 16
+150 | 182 < 240 20x6x2
@ L ‘—2x@cm—" ‘ @cm i 4 and 8
2x9x5 [ 90 » 32}@ f '
What 1i;_fhe ptterirr;e:er of What is the
Is reclangle’ erimeter of
@ 20 [ 12 < 28] 7x2x2 || ouen)TiaNsy S| | amelers b
o =126 + 64 4 x 32cm Write at least 6 questions with the
3x7x2 @ - 10
XX ‘ 42 > 22 ] )| =190cm = 1.9m J, - 128cm = 1.28m answer of
32) ~1= = 32 “4=8 Circle the numbers which are smaller than 32 There are many
32) +3= wor2or1023 (32 2= o (30] W X1 (61) C (100) different que.s‘rions you
32 ~8= 4 32 7 6= srzersys LXXXI81)| Ll (51)| LXXIV(74) LVIII(58) could pick.
6r2 or 6 2/5
32) +5= o0 32 7= 4rdoraas XL (40) CX(110)  XCI(91)|  XXXIX(39) Ask a classma‘re‘ to
32 < 10= 3"20‘:“33_2“ ® 1132 9= 350359 XXXI (31]] LXII (62) L (50) XCIX(99) check your questions.
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Write @ in words

Complete the sequence of multiples and circle the ones which are larger than

®

~ thirty three o | 16 [24]32[40]48]56]64]72]80]88]09
; < > <> = = = — = =
Cirel the facts bisser than(33) o | 2 [18 |24 30|36 [ 42|48 |54 60]66]72
TxS){IxR)Lexs)Ox8)) 8x3 9 | 18 27|36|45I54|63 72| 81|90 | 99 | 108
3x7 ||7x7 ||| 2x5]| sx4 [Joxu > =—— = — = — =
7 14
=l [ [ ]a]es 35142149ﬂ56ﬂ63ﬁ70“77ﬁ84
[ Work out each side, compare them and ) Th | H uet h Write some f
write 2 symbol <, > or = 33 ‘ | 3 factor pairs of
10x3x2 [ 60 > 33]@ 33 x10 3,3 0 33
@)[33<90]”5x3 - 1 1and 33
33 x100 3|30 0 an
5x 10x5 [250 > 99]3)‘@ 33 +|gg_ _O_‘3 3. 3and 11
@+|50 “83 < 240 20x 6x2 @
— 2x cm—*, cm
2x 9% [ 9 > 33 J @ What is_fhe perimeter of T W@he
@ = (13 < 28]7xax2 || e ENS O e
' =132 + 66 4 x 33cm Write at least 6 questions with the
3Ix7x2 - 10
k x7x ‘ 42 > 23 ]@ )| =198cm = 1.98m J, = 132cm = 1.32m answer of
_ N 8rior8 3 )
33 1= 3 33 4 or 8.25 Circle the numbers which are smaller than 33 There are many
i _ . _ lérlorl6s . .
33 3= 1 33 2= " . XXX (30] W5 X e C (100) different que.s‘rlons you
133) +8= atoravs (33 +6= "N IXXXID| L (51)| LXXIV(74)  LVIII(58) could pick.
33 +5= 6'"30:2?63/5 33 <7 = 4r50r45/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
33) - 10 - 3raz:;:/1o 33) 9= 63 XXXI (31]] LXI1 (62) Loy XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.

RRB5A



Write in words

-

Complete the sequence of multiples and circle the ones which are larger than

St thirty four o | 16 [24]32[40]48]56]64]72]80]88]09
s :: :: Y g g Y Y Y Y
Cirel the facts bisser than(@4) ¢ | 2 |18 |24 [ 30|36 ] 42] 48 54| 60] 66| 72
7x8]|[1x ][ 6x8]|[loxs]] 8x3 o | 18 27|36|45I54|63 72 [ 81 ] 90 | 99 [ 108
3x7 |[7x7 sx4 ([oxl ———— = — .
- 7 [ ]at] 28 35142149 56| 63| 70 | 77 | 84
8 x4 3Ix6 3x9 IIx5 6x7 . A A A A A o A
[ Work out each side, compare them and Th H| T Uet | h Write some f
write 2 symbol <, > or = 34 | 3 | 4 . factor pairs of
0x3x2 | 60 > 34]@ 34 x 10 34 0 34
G (34 < 90 exsxs || 34°° 314 L and 34
34 x100 3|40 0 an
sx10x5 (250 > 102) 3x@8) || 540 0+3 4 || 2and17
+ 150 “84 < 240 20x6x2
— 7 cm—> cm
2x9x5 [ 90 » 34}@ xm f
What 1i;_fhe pt:rin‘;eler c:'F What is the
is rectangle? erimeter o
20 [ 14 < 28| 7x2x2 || oegn)iiansn o | R ey -
' =136 + 68 4 x 34cm Write at least 6 questions with the
IxTx2 - 10
k x 7T x ‘ 42 > 24 ]@ - 204cm = 2.04m = 136cm = 1.36m answer of
( _ ., _8r2or8% )
34 1= 34 - 4= Circle the numbers which are smaller than 34 There are many
op 3= utorltts |G 2=V XXX (30] LV (55)|  LXI (61) C (100y| | different q”ef*ions you
34 8= O 34 +6=sraor52/3 LXXXIg)| Ll (51)| LXXIV(74)  LVIII(58) could pick.
34 +5-= 6r40°:2:/5 34 =7 = 4r6orde/7 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
34) +10=""3 1B 29 = s7as7m XXXI (31]] LXI1 (62) L(50)  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ thirty five o | 16 [24]32[40]48]56]64]72]80]88]09
. * - Y -~ - - - - -
Circle the facts bigger rhan@ e | 218 24]30]36]42]48]54]60]066]72
7x8|[]1xi2)|| exs|||lox8] 8x3 1
- - - Z - 9 8 27|36I45I54I63 72 | 81 |90 | 99 |108
3x7 |[7x7])|[12x5)| sx4 |[[oxu s s e e e |
7 | 14 I I [ I
axa | 3c6 | 3x9 mlxs ~E 7| A21 28 | 35| 42 49ﬂ56i63ﬁ70“77ﬁ84
[ Work out each side, compare them and ) Th | H Uet h Write some (
write a symbol <, >or = 35 | 3 | 5 | factor pairs of
0x3x2 | 60 > 35]@ 35 x 0 350 35
35 =10 3¢5
35 < 90 | 6x5x3 -
@ [ ) 35 xi0 3 /5|0 0 land 35
S5x 10x5 [250> 105}3)(@ 35 + 00 0435 5 and 7
@+ 150 “85 < 240 20x6x2
— 2 x@cm—" cm
2x9x5 [ 90 > 35}@ f
What 1i}s1 the ptterirr;e:er of What is the
's recfangle! erimeter of
@) [(15 < 28| 71x2x2 || ou70) G o R cquare? :
' =140 +70 4 x 35cm Write at least 6 questions with the
3x7x2 @ - 1o
k X7 x ‘ 42 > 25 ] )| =210em = 2.1m J: = 140cm = 1.4m answer of
- . 8r3 or 8%
39 1= 35 or 8.75 Circle the numbers which are smaller than 35 There are many
_ 1lr2or113/5 . 17rlor 173 . .
35 3= " i, 35 ‘2 or 175 XXX (301 LV 55  LXI (61) C (100) different que.s‘rlons you
35 - 8 = 4r30r43/8 35 6= b5r50r55/6 LXXXI(81) LI (51) LXX|V(74 LV|||(58) could pICk'
35 5= 7 35 =7= 5 XL (40) cX (110) XCl (91) xxx|x(39) Ask a CIGSSI’T\GTC‘ to

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than

y N N '

Do et thirty six 8 | 16 [24|32]40| 48| 56|64|72|80]88]| 96
- * - <+ Y Y = - - - -

Cirele the fscs biger han(@6) 6 | 2|18 [24]30]36]|42]48]|54]60]66]72

L8] |[1x )| 6xe]|(oxe]| 8x3 o [ 18 |27 36 | 45 | 54 | 63| 72| 81|90 |99 |108
3x7 |[7x7 |I2x5| sx4 |lox1 ——————s - = — —

8 x4 3x6 3x9 x5 6x7 L7 A 4 A21A28135[4ZI49§56ﬁ63ﬁ70*77g84

[ Work out each side, compare them and ) Th | H | T Uet h Write some ( A
write a symbol <, >or = 36 3 6 factor pairs of

0 x 3 x2

60>36] 36><|0‘ 3 6I0. 36

[
[[36<90]6><5x3 _36‘::;0 TR, ;‘6 Sond 18
L

36
250 > 108) 3x@0) || &g 10 0+t3 6 || 3and12
1

86 < 240 20x6x2 ' ' - ; 4and 9

— 2 x.cm—" ) cm
2x9x5 [ 90 > 36} @ !
What is the perimeter o'F What is the 6 and 6
this rectangle? erimeter of
'20 (16 < 28 | 7x2x2 || ou70) CN30) Fiis saquare? b
. =144 + 72 4 x 36cm Write at least 6 questions with the
3x7x2 . - 10
‘ 42 > 26 ] @ )| = 216cm = 2.16m J: = 144cm = 1.44n answer of
36 1= 36 36 4= ° Circle the numbers which are smaller than 36 There are many
36 3= 1 36 2= 18 XXX (30] LV (55) X1 (61) C (100) different questions you
.o — A4rdor4di e - Cco ld .Ck.
36 ~8= "7, 36 6= o | LXXXI(81) LI (51) LXXIV(74)  LVIII(58) P
7rlor71/5
36 5= ", 36 <7 = 5rlor517 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
36 <l0="0"35 @ay Lg- XXXI (31]] LXI1 (62) Loy XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
D thirty seven 8 | 16 | 24|32 40|48 |56 | 64| 72|80 889
: :: :: <> Y Y a'g g g v -
Cirel the facts bisser than(@7) ¢ | 2 [ 18] 243036 |42]48]54]60]66]72
\ A A A A
7x8|([nx12]|[ex8]|[lox8] 8x3 1 |
X L][; z . 9 18 | 27 36|45 54I63 72 |1 81|90 | 99 [108
3x7 |[7x7) |l zxs]| sx4 [|ox1l p=—————— - e e e |
1 [ w21 28] 3542 49] 56 [63] 70 77] 84
8 x 4 3x 6 3x9 I1x5 6 x7 \_ A A A o - .. ’ P.\
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 37 | 3 | 7 . factor pairs of
0x3x2 | 60 > 37]@ 37 x 0 370 37
37 =10 3¢7
37 < 90 | 6x5x3 —
@ [ ) 37 xl0 3, 7/0 0 land 37
5x 10 x 5 [250 > 111]3)(@ & - 0o 0b3 |7
@+ 150 “87 < 240 20x6x2
— 2 x@cm—" @Cm
2x9%x5 [ 90 » 37}@ T
What 1i}s1 the ptterirr;e:er of What is the
s recfangle! erimeter of
@)= (17 < 28)1x2x2 || W7 Gy & R cauare? :
' =148 + 74 4 x 37¢cm Write at least 6 questions with the
3x7x2 @ - 10
\ x7x ‘ 42 > 27 ] ) = 222cm = 2.22m J: = 148cm = 1.48nm answer of
_ L4 _ 9rlor9% )
37) 1= % 37 4 or9.25 Circle the numbers which are smaller than 37 There are many
. _ . _ 18rlor183 . .
37 3= w37z (37 2= 70 XXX (30] W5 X e C (100) different questions you
+g = 4o 6= ick.
37 8= #oort¥8 [37) ~6= ertorous IXXXI@D) Ll (51)| LXXIV(74)  LVIlI(58) could pi
37 +5= 7r2°orr;42/5 37 7= 5r20r52/7 XL (40) CX (110) XCl (91) XXXIX(39) Ask a classma‘re‘ to
37) +10=37370 @) 9= araravs XXXI31]  Xlle2)  L(s0)  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
D thirty eight 8 | 16 |24|32(40| 48| 56| 64| 72|80 889
s :: :: f: Y Y g - - - -
Cirel the facts bigser than(38) ¢ | 2 [ 18] 243036 |42]48]54]60]66]72
\ A A A A
7x8|(|nx12]|| exs8]||lox8] 8x3 1 |
X ;][; . . 9 18 | 27 36|45 54I63 72 |1 81|90 | 99 [108
3x7 || 7x7 ||l zxs]| sx4 ||9x1l p—————— - e e e e
1 [ w21 28] 3542 49] 56 [63] 70 77] 84
8 x4 3x6 3x9 x5 6 x7 L A A A A A A o A
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 38 3 8 factor pairs of
10x3x2 [ 60 > 38] 38 x 10 3,80 38
38 =10 3¢8
38 <« 90 | 6x5x3 —3
[ ) 38 xio 3 /8|0 0O land 38
sxi0xs (250 > 114]3x@8) || 550 0+3 8 || 2and19
+ 150 “88 < 240 20x6x2
— 2 x.cm—" cm
2x9x5 [ 90 > 38} @ f
What is the perimeter o'F What is the
this rectangle? erimeter of
20 [ 18 < 28 |7x2x2 || ox7e)oXsn) | | Femelers ,
' = 152+ 76 4 x 38cm Write at least 6 questions with the
3x7x2 . - 1o
\ x7x ‘ 42 > 28 ] ) = 228cm = 2.28m = 152¢cm = 1.52m answer of
38) « 1= 38 38 4 =orzersrerss Circle the numbers which are smaller than 38 There are many
38 +3=12r2or122/3 (38 +2=19 XXX (30] LV (55) X1 (61) C (100) different questions you
o _ 4rbor4: o, ick.
38 8= un 38 6= erzoro13 LXXXI81)| Ll (51)| LXXIV(74) LVIII(58) could pick
7r3or7 3/5
38 5=, 38 7= 5r30r53/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
38) < 10=2734 (3g) <9 = wzaraus XXXI31]  Xlle2)  L(s0)  XCIX(99) check your questions.

.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
D thirty nine 8 | 16 | 24|32 40|48 |56 | 64| 72|80 889
: :: :: <> Y Y a'g g g v -
Cirel the facts bisser than(39) ¢ | 2 [ 18] 243036 |42]48]54]60]66]72
\ A A A A
2o )| (xe) Cexedfloxe)l 83 | (o 18 [27 36 [45] 54 63]72] 8190 99 [108
3x7 ([ 7x7)|[2xs5]| sx4 [[ox1l I=——t===_=uu==_ - e e
1 [ w21 28] 3542 49] 56 [63] 70 77] 84
8 x 4 3x 6 3x9 I1x5 6 x7 \_ A A A o - .. ’ P.\
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f )
write 2 symbol <, > or = 39 3 9 factor pairs of

0 x 3 x2

60>39] 39><|0‘ 3 9I0. 39

39 =10 3¢9

[
{39(90%“5“ B9 x00 3|90 O 1and 39
L

3" 39 + 100 ' 0+3]9 || 3and13
o [ 30 > 39J “'_2::~:crr'|—"'T ) cm
|
|

What is the perimeter o'F What is the

this rectangle? imet £

< 7x2x?2 perimetfer o

19 28 ] (2x78)+(2x39) cm this square?

' = 156+ 78 4 x 39cm rWrite at least 6 questfions with the
3x7x2 . - 1o
42> 29 )@ J | = 234cm = 2.34m J’ - 156¢m = 1561 answer °f

= | = .4 = 9r3o0r9 3/4
39 ¢ % 39 4 or 9.75 Circle the numbers which are smaller than 39 There are many

. _ . _ 19rlor19% . .
39 3= 13 39 2= " : XXX (30] LV (55) X1 (61) C (100) different questions you

- . ¢ — 6r3oré: COUId |Ck
39 8= 4vordrs 1139 “6= " 5 | LXXXI(81) LI (51) LXXIV(74)  LVIII(58) P

rd or7 4/ .

39 +5= 7 ° 7?8 5 39 +7= sr4or54/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a CIGSSI’T\GTC‘ to
39 +10=""00 13g) +9= a3eraus XXXI (31]] LXII (62) L(50)  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty o | 16 [24]32] 40 48] 56[64]72]80]88]09
> ¢ > - = = — = —
Circle the facts bigger rhan e | 12 |18 |24 30] 36 | 42 [ 48 | 54| 60| 66 | 72
7x8|||1nx12]|] exs]||lox8] 8x3 ( ) 1 |
2 . : 2 - 9 18 127 | 36 |ﬂ 45 I 54 | 63|72 | 81 | 90 | 99 |108
3x7 |[7x7)|[12x5]| sx4 |[[ox1l I=——t===_=uu==_ s e S
7 | 14 35] I
5xs | 326 | 329 |0 eey 7| A21A28 35| 42 49ﬂ56ﬂ63ﬁ70*77ﬁ84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 40 4 0 factor pairs of
10 x 3 2 [ 60 > 40] 40 x 0 4,00 40
[40< 90 | xsx3 || 28" 21 1and 40
40 x100| 4 | 0| 0 O
sxloxs 250 > 120}3" 40 - 100 ' 0t+4 0 || 2and20
+ |50 20x 6x 2
(190 « 240 20x6x2 | i — 4 and 10
2x9x5 [ 90 > 40} !
What;;_fhe pt:rin‘;e:er c:'F What is the h and 8
's reclangle’ erimeter o
20 [ 20 < 28|7x2x2 || oxg0) Tra0) S| | s ,
3% 7 x2 . 10 =160 + 80 4 x 40cm Write at least 6 questions with the
k x 7T x ‘ 42 > 30 ] @ ) = 240cm = 2.4m = 160cm = 1.6m answer of
400 = 1= 40 40 4= 1 Circle the numbers which are smaller than 40 There are many
40 +3= Brior13¥3 (40 2= XXX (30 W X1 (61) C (100) different que.s‘rions you
40 “8= > 40 +6= era02/3 LXXXI(81) Ll (51)| LXXIV(74) LVIII(58) could pick.
40 5= 8 40 7= 550r55/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
40 =10 = 4 40 =9 = 4rd4or44/9 XXXI (31) LXII (62) L (50) xc'x(gg) CheCk YOUI" queS'I'lonS.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty one o | 16 [24]32] 40 48] 56[64]72]80]88]09
> ¢ > - = = — = —
Cirel the facts bisser than(41) ¢ | 2 |18 |24 |30] 36 |42 | 48] 54]60] 6] 72
7x8 |||1nx12|| exs||{|lox8] 8x3 1 |
2 - : z 2 9 18 | 27 | 36 |ﬂ 45 I 54 | 63|72 | 81|90 |99 |108
3x7 |[7x7 |I2x5 5x 4 9x||| p=—————— e e e |
7| 4| a1]28]35]42 I
8 x 4 3x 6 3x9 I1x5 6 x7 \_ A A A 8 35 4 49ﬁ56ﬂ63ﬁ70§77ﬁ84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 41 4 1 factor pairs of
0x3x2 [ 60 > 41] 41 x 10 41 0 41
[ 4 < 90 | exsxs || T 1 1and 41
41 x00 | 4|10 O
5x 10x5 [250 > 123}3x 41 + 100 0+ 4 1
+ 150 L 191 <« 240 20x6x2
— 2x cm—*, cm
2x9x5 [ 90 > 41J f
What is the perimeter o'F What is the
this rectangle? erimefer of
20 [ 21 < 28] 7x2x2 || gAY S| | s :
' =164 + 82 4 x 41cm Write at least 6 questions with the
3x7x2 . - 10
\ ‘ 42 > 31 ] ) | = 246cm = 2.46m = 164cm = 1.64n answer of
_ 4= 10rl or 10%
4L <1= = 41 ¢4 or 10.25 Circle the numbers which are smaller than 41 There are many
. = 13r20r132/3 = 20rlor 203 H H
41 03 40 27 s XXX (30] LV (55)|  LXI (61 C (ooy| | different quesTions you
| @D +8 = oriorsus 4] +6= 6565/ LXXXI(81) Ll (51)| LXXIV(74) LVIII(58) could pick.
8rlor81/5
41 5= or 8.2 41 +7 = S5r6or56/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
41 +10="1o0 11} <9 = asorano XXXI (30| X (62) L(50)| XCIX(99) check your questions.
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For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty two o | 16 [24]32] 40 48] 56[64]72]80]88]09
- :: :: + > v - - - -
Circle the facts bigger rhan 6 |12 {18 ]24(30]|36|42]48|54]|60]|66]72
\, A A A N
7x8|[|1xiz||]exs||]lox8] 8x3 ( | 1 |
z . z z . 9 18 | 27 | 36 |ﬂ 45 | 54 | 63 I 72| 81190 (99 108
3x7 [[7x7 ||| 2xs]|| sx4 |[9x1 —————— m— — > >
7 14 12112 I 2 T
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49 | 56
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 42 4 2 factor pairs of
10x 3 x2 { 60 > 42] 42 x 10 4 2 0 42 -
42 - 10 4 ¢ 2
42 < 90 | 6x5x3 -
[ ) 42 x00 4| 20 0 L and 42
5x 10x5 [250 > 126]3)‘@ 42 - 100 0+ 4 2 2 and 21
+|50 192 < 240 20x6x2 : 3 and 14
— xcm—" Cm
2x9%x5 [ 90 > 42J f
What is the perimeter o'F What is the
this rectangle? erimefer of
0 [(22 < 28| 7x2x2 || oupn)TioNan) o] | el :
' =168 + 84 4 x 42cm Write at least 6 questions with the
3x7x2 . - 1o
\ ‘ 4?2 > 32 ] @ ) | =252cm = 2.52m = 168cm = 1.68m answer of
_ 4= 10r2 or 103
42 1= 42 -4 or 105 Circle the numbers which are smaller than 42 There are many
42 3= 1 42 2=y xxx z0l LV 55 X1 (61) C (100) different questions you
. _ 5r2orb% ) _ .
42) 8= o5 42 ~6=7 LXXXI(81) LI (51) LXXIV(74) LVIII(58) could pick.
+g o Br2or82/5 +7 = Ask a classmate to
42 or B4 42 - 6 XL (40) CX(110)  XCI(91) | | XXXIX(39)
42) < 10="2025 1a5) <9 = asorszs XXXI (30| X (62) L(50)| XCIX(99) check your questions.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty three o | 16 [24]32] 40 48] 56[64]72]80]88]09
. * > <+ Y Y -~ - -~ -
Cirel the facts bisser than(@3) ¢ | 2 [ 18] 243036 |42 48]54]60]66]72
\, A A A N
7x8 ||| I2||68 ox8| 8x3 ( ) 1 |
. . . : . 9 18 | 27 | 36 |ﬂ 45 | 54 | 63 I 72 | 81 | 90 | 99 | 108
3x7 ||7x7 ||} izxs]| s5x4 [Joxu p————— — — > >
A 2 T
8 x4 3x6 3x9 x5 6x7 L A A A 8 35A4 49 | 96
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 43 | | 3 . factor pairs of
10x3x2 [ 60 > 43] 43 x 10 413 0 43
+ |0 4 ¢ 3
@ (43 < 90]exses || 28 1 and 43
43 xl00 4|30 O
5x 10x5 [250 > 129]3)‘ 43 - 100 0+ 4 3
+|50 “93 < 240 20x6x2
— 2x cm—* cm
2x9x5 [ 90 » 43} f
What is the perimeter o'F What is the
this rectangle? erimefer of
20 [ 23 < 28] 7x2x2 || oume)iiznan | | Parmelers b
! =172 + 86 4 x 43cm Write at least 6 questions with the
3x7Tx2 . - 10
\ ‘ 4?2 > 33 ] @ ) | =258cm = 2.58m = 172cm = 1.72m answer of
L= - 10r3 or 10 3/4
43 ! 3 43 or 10.75 Circle the numbers which are smaller than 43 There are many
. _ . _ 2lrlor21% . .
43) +3=wroruys (43 2= """ XXX (30, LV (55) X1 (61) C (100) different que.s‘rlons you
| 43 +~ B = 5r30r53/8 43 +6 = 7rlor71/6 LXXXI(S].) LI (51) Lxx|v(74 LV"I(58) Could pICk'
r3or8 3/
43 +5= 8 30,- :63 5 43 ~T7 = ertor61/7 XL (40) CX (110) XCl (91) XXXIX(39) Ask a CIGSSI’T\GTC‘ to
23 -0 - 4r3z:i:/10 43 9= a7orars xxisl  LXI (e2) Loy XCIX(99) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
D forty four o | 16 [24]32] 40 48] 56[64]72]80]88]09
; * > <+ Y Y - - - <
Circle the facts bigger ihan 6 12 18 24 | 30136 |1 4201 48 | B4 | 60| 66 | 72
‘. .. . .. \ v,
7x8 |[J11x12]|] 6x8 Ox8] 8x3 ( 1 1 1
. . - . . 9 [ 18|27 |36 |ﬂ 45 | 54 | 63 I 72 | 81|90 | 99 |108
3x7 |[7x7)|[12xs]| sx4 [|ox1 p——————= — — — > S
7 14 I T
8 x4 3x6 3x9 x5 6x7 L A A 21A28 35A42 49 | 96
[ Work out each side, compare them and ) Th | H | T Uet h Write some (

10x3x2 { 60 > 44] 44 x 10 414 O 44
@ (42 o0 cxens || B0 ! ond 44
. 250 > 132] 3" 44 - 100 04| 4 2 and 22
+|50 194 < 240 20x6x2 : — ' 4 and 11
Y o [ 90 > 44J “'_2::~:crr'|—"'T ) cm , an

|

|

write 2 symbol <, > or = 44 4 4 factor pairs of

What is_fhe perime:er o'F What is the
24 < 28 ] Tx2x12 this rectangle’ perimeter of

— e @x e v :w te at least 6 quest th th
= + rite at leas uesfions wi e
Prrxr |42 > 34 ] - ) L= Zaicrr? f 2.64m J’ j;7:i:wm: L.76m answer qu
44) 1= w 44 4= Circle the numbers which are smaller than S There are many
44 3= 1201423 ((44) 2= 5 xxx z0l LV 55 X1 (61) C (100) different questions you
(44 -8= T @4 c6= et [||E pooen U e LXKIV(Z4)  LVINISS) could pick.
44 +5 = 8'”40‘;?84/5 44 7= 6r2or62/7 XL (40) CX (110) Xclo1)| [ XXXIX(39) Ask a classmate to
24) -0 - 4r‘1:r‘412/5 44) 9= asoraso o]l X (62) L (50) XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty five o | 16 [24]32] 40 48] 56[64]72]80]88]09
- + $ <> Y -~ - - -~
Circle the facts bigger ihan 6 12 18 24 I 30 | 36
7x8 ||| I2| 6x8|(]lox8] 8x3 ( ) 1 |
2 - [; 2 . 9 18 127 | 36 I 45154 | 63 | 72| 81 |90 | 99 |108
3x7 |J7x7 ||l 2xs|| sx4 [|9xIl =—=u===Uu=_ v — v
7|21 28] 35] 42] 49] |
8 x4 3x6 3x9 II'x5 6 x7 L A A A 8|35 4 49 56‘*63.\ 70 77, 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
owsxz (60> 45 )@ || 8 85 0 €
[45<90]6x5x3 45 - al 1 and 45
45 xl0o| 4 | 5| 0 0
sxloxs 250 > 135}3" 45 + 100 ' 0+4 |5 || 3and15
+150 |1 2 20x 6x2
195 « 240 20x6x — xcm_, - 5 and 9
2x9x%x5 [ 90 » 45}@ What is th it f
al 1§ e perimeler o What is the
this rectangle? . erimefer of
20 [ 25 < 28|7x2x2 || ox50) Tram) | | e :
' =180 + 90 4 x 45¢cm Write at least 6 questions with the
3x7x2 . - 10
\ ‘ 42 > 35 ] @ ) | =270cm = 2.7m = 180cm = 1.8m answer of
( 1irlor 113 )
45 1= 45 - or 11.25 Circle the numbers which are smaller than 45 There are many
. _ . _ 22rlor22% . .
45 3= 15 45 +2=""7" xxx ol  weml e C (100) different questions you
. = . _ 7r3or73% .
|4 8= ssorsss (@G 6= 75 IXXXIsn) Ll (51)| LXXIV(74)  LVIII(58) could pick.
45 +5= 9 45 =7 = 6r30r63/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
4r5 or 4% ‘ .
45 +10="%0" 45 9= > XXXI(31f  LXI(e2)  L(50)  XCIX(99) check your questions

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty six o | 16 [24]32] 40 48] 56[64]72]80]88]09
p < :: - > - - - -
Circle the facts bigger ihan 6 12 18 24 I 30 | 36
7x8|[fxiz||]exs]||lox8]| 8x3 1 |
. X _L] z : 9 18 | 27 | 36 I 45154 | 63|72 | 81|90 |99 |108
3x7 |[|7x7 |I2x5| sx4 ||9xIl p————um—— v = v v
7|4 |a1]28]35] 42 1 1
8 x4 3x6 3x9 II'x5 6 x7 L A A A 8|35 4 49 56‘*63.\ 70 77, 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 46 4 6 factor pairs of
ovsxz (60> 46 )@ || Bor %6 O £
[46<90]6x5x3 46+ 116 1 and 46
46 x100 4 60 O
sxloxs 250 > 138}3" 46 - 100 ' 0t+4]6 || 2and23
+ 150 “96 < 240 20x6x2
— 2x cm—* cm
2x9x5 [ 90 > 46} f
What is the perimeter o'F What is the
this rectangle? erimefer of
20 [ 26 < 28] 7x2x2 || ougn)TioNas) S| | amelers b
! =184 + 92 4 x 46¢cm Write at least 6 questions with the
3x7Tx2 . - 10
\ ‘ 42 > 36 ] @ ) = 276cm = 2.76m = 184cm = 1.84m answer of
46 1= 4 46 - 4= U2 1ikor 115 Circle the numbers which are smaller than 46 There are many
46 : 3 = 15rlor151/3 46 : 2 = 23 xxx (30\ I.V (55) LXI (61) c (100) differ'enT queS‘l’lonS you
. _ bréorb52 . _ .
146 8= " 555 46 ~ 6= rraorvess LXXXIen| LI (51)| LXXIV(74)  LVIII(58) could pick.
46 = IO = 4r‘601:‘r‘4‘fr63/5 46 = 9 = 5rlor 5 1/9 XXXI (31) Lx” (62) I. (50) xc'x(gg) CheCk YOUI" QUZSTIOHS

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty seven o | 16 [24]32] 40 48] 56[64]72]80]88]09
s S e
Circle the facts bigger ihan 6 12 18 24 I 30 | 36
7x8|[|1xiz||| exs]||lox8] 8x3 1 |
. 2 - 2 . 9 18 | 27 | 36 I 45154 | 63|72 | 81|90 | 99 [108
3x7 [f7x7)||2xs5]| sx4 [J9x1l —————— = v = v
7|4 |a1]28]35] 42 | |
8 x4 3x6 3x9 II'x5 6 x7 L A A A 8|35 4 49 56‘*63.\70 77, 84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 47 | 4 | 7 . factor pairs of
oxsa (60 a7 @ || E7x0 070 -
+ 10 4 ¢ 7
@ (47 < 90]exsxs || 1 and 47
47 x100 4|7 0 0
5x10x5 [250 > 141}3)( 47 -+ 100 0+ 4 7
+ 150 “97 < 240 20x6x2
— 2x cm—*, cm
2x9x%x5 [ 90 > 47} f
What is the perimeter o'F What is the
this rectangle? erimefer of
0 [ 27 < 28| 7x2x2 || ouon)TiONan S| | el :
' - 188 + 94 4 x 47¢cm Write at least 6 questions with the
3x7x2 . - 1o
\ ‘ 42 > 37 ] @ ) - 282cm = 2.82m = 188cm = 1.88m answer of
_ _ Hr3oril?
47 1= 4w 47 4= or 1175 Circle the numbers which are smaller than 47 There are many
. = r2 or : = 23rlor23% H H
47) +3= vreoris2zs (47 2= Brio XxX 30] LV (55) X1 (61) C (100) different que.s‘rlons you
| 47 +~8 = 5r70r157/8 47 +6 = 7r5,75/6 LXXXI(S].) LI (51) Lxx|v(74 LV"I(58) COUId pICk'
9r2 or 9 2/5
47 +5= roa 47 <7 = 650r65/7 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
4r7 or 10 7/10 i
47) <10= "7 47 +9= sr2or52/9 XXXI(31  LXI2)  L(50)  XCIX(99) check your questions.

.

J

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ forty eight o | 16 [24]32]40]48[56]64]72]80]88]09]
; - <+ Y Y \'a - -
Cirele the fscs biger han(@8) ¢ | 2 [ 18] 243036 ]42]48]54]60]66]72
)| ox® (B8] 8 9 | 18|27 36[45|54|63 72]81 90 | 99 | 108
3x7 [[7x7||l2xs || sx4 [[ox1 b — = ———
e 7 14
8 x4 3x6 3x9 II'x5 6 x7 L A21A28135I42 49l56[63.\70177,\ 84
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write 2 symbol <, > or = 48 | 4 | 8 | factor pairs of
10x 3 x2 { 60 > 43] 48 x 10 4 8 0 48
= 10 4 ¢ 8
@) (48 < 0] exsx2 |11 20 1 and 48
48 xi00 4 8 0 O
5x 10x5 [\2!5() > 1‘1‘@ 3 Xqil:’ 48 -+ 100 _ - 0 f 4 8 | 2 and 24
+|5o 198 « 24@ 20 x 6 x 2 2xcm_' = 3 and 16
2x9x5 [ 90 » 48} _ : f
What |s_fhe penme:er c:'F What is the 4 and 12
90 [ 28 = 28 ] 7 %2 x2 this rectangle? perimefer‘ of
(2 x96) + (2 x 48) cm this square? 6 and 8 -
. =192 + 96 4 x 48cm Write at least 6 questions with the
3x7Tx2 - 10
k x7x ‘ 42 > 38 ] ) - 288cm = 2.88m =192¢m = 1.92m answer of
48) 1= 48 4= © Circle the numbers which are smaller than 48 There are many
48) 3= 1 48 2= 4 XXX (30] LV (55) X1 (61) C (100) different que.s‘rions you
@8 8= ¢ 48 6= 8 LXXXI(81) Ll (51)| LXXIV(74) LVIII(58) could pick.
48) 5= 9r3oorr;63/5 48 7 = 6r6or66/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
28) - 10 = 4rir°2.204/5 48) 9= ssorsua xxisl  LXI (e2) Loy XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
(070 99 forty nine o | 16 [24]32]40]48[56]64]72]80]88]09]
p <> > + > » = = =
Ciree the tacts iger thar(@9) ¢ | 2|18 ] 2430364248 54]60]066]72
7x8|[|1ix12]| ex8 |[[lox8]|| 8x3 ( T o | 1 I i i
z . 2 z . 9 18 | 27 | 36 I 45154 | 63|72 | 81 (90| 99 |108
3x7 | 7x7 |I2x5l s5x4 |[9x Il I=——t===_=uu==_ ¢ ————
7|4 [a1|28]35] 42 I
8 x 4 3x6 3x9 II'x5 6x7 L A A A 81354 49| 26 63ﬁ70ﬁ77ﬁ84
[ Work out each side, compare them and ) Th H| T Uet | h Write some f )
write 2 symbol <, > or = 49 | 4 | 9 . factor pairs of
10 x 3 x 2 [ 60 > 49]@ 49 x 10 4.9 0 49 : @
49 -+ 10 44¢9
49 <« 90 | 6x5x3 —
[ ] 49 x100 490 0 1and 49
5x 10x5 [ 250 > 14} X 49 +|00_ 0‘4 9 7and 7
+|50 L9 240 20x 6x 2
— 2x cm—* cm Round t,,
2x9x5 [ 90 » 49J f @
What is the perimeter of What is the
this rectangle? erimeter of
20 [ 29 > 28|7x2x2 || ouop) PN o] | s , J
3% 7x2 ﬁ. .10 = 196 + 98 4 x 49¢cm Write at least 6 questions with the
\ ‘ 42 > 39 @ ) | = 294cm = 2.94m = 196cm = 1.96m answer of
_ N - 12rlor 12%
49) < 1= 4 49 -4 or12.25 Circle the numbers which are smaller than 49 There are many
. _ . _  24rlor 243 . .
49 3= mriort613 |(49 2= T 7 xxX 0]  VvEm WX en C (100) different que.s‘rlons you
|149) +8 = oriorels 149 6= arlorsl/s LXXXI(81) Ll (51)| LXXIV(74) LVIII(58) could pick.
49 +5= 9r40ir9?84/5 49 7= 7 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
29 - 10 = 4r‘9o:r'4%(9) MO 1 @9) 9= sraarsas XXt LXI (62) Loy XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ fifty o | 16 [24]32]40]48[56]64]72]80]88]09]
; * - <+ Y Y \'a - -
Ciree the tacts biger 1har(B0) ¢ | 2|18 ] 2430364248 54]60]066]72
7x8|[|1x12]| ex8 ||lox8]| 8x3 [ o | o | 1
<o |(xiz)| exe |[10x8] 8x > [ e [27] 36 [ 45 [54 [ 63] 72 81 [ 90 [ 99 [108
3x7 | 7x7 |[2xs)| sxa ([oxu et ¢ e
7 | 1 |35] 42] I
5xs | 3xe | 329 (03] v 7T 21A28 35|42 | 49| 56 63ﬁ70“77ﬁ84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 50 | 5 | 0 . factor pairs of
10 x 3 x 2 [ 60 > 50]@ 5O * 10 5,00 50 :
5O =10 540
BO < 90 | 6x5x3 —
[ ) 50 x100 5| 0|0 O 1and 50
sxl0xs |250 > 150}3"@ 50 100 ' 0+5 |0 || 2and25
+|50 (200 < 240 20x6x2
5 and 10
— 2 x cm—*, cm Roun
2x9x5 [ 90 > 50J ! @
What is the perimeter of@ What is the
this rectangle? erimeter o
€D -2 (30 > 28] 7x2x2 || oL lo0) ENR0) B | fees : J
3% Tx2 —]. 10 =200 + 100 4 x 50cm Write at least 6 questions with the
k x7x ‘ 42 > 40 @ ) | =300cm = 3m J: = 200cm = 2.0m answer of
_ 4= 12r2 or 12%
90) 1= 0 50 4 or125 Circle the numbers which are smaller than 50 There are many
BO + 3 = 16r2or162/3 O 2= 25 XXX (30) LV (55) LXI (61) C (100) different qUCSTiOHS you
. _ 6r2orb6z _ .
50 “8= ",z 50 6= sr2or8us LXXXI@1)| Ll (51)| LXXIV(74) LVIII(58) could pick.
50 5= 10 50 =7 = 7rlor71/7 XL (40) CcX (110) XCl (91) xxX|x(39) ASk a Classma'l’e to
5O + 10 = 5 5O) +9 = 550559 XXt LXI (62) Loy XCIX(99) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ fifty one o | 16 [24]32]40]48[56]64]72]80]88]09]
; <> - . > — = ~
Circe the tacts iger thar(BL) ¢ | 2|18 ] 2430364248 54]60]066]72
7x8|[|1x12]| 6x8 [[l0x8]|| 8x3 ( ) 1 I I [
. . : Z . 9 18 | 27 | 36 I 45154 | 63|72 | 81 (90| 99 |108
3x7 | 7x7 |[2x5|| sx4 [[9x1l > — ¢ e
7 | 1 |35] 42] I
oxa | 326 | 329 [hixs]1 ex7 | | 21A28 35|42 | 49| 56 63‘*70*77“84
[ Work out each side, compare them and ) Th T Vet | h Wrife some f
write a symbol <, > or = 51 | 5 | 1 . factor pairs of @
10 x 3 x 2 [ 60 > 51]@ 51 x 10 110 51 :
Bl =10 5¢1
Bl < 90 | 6x5x3 =
@ [ ) 51 x 100 5 0 0 land 51
sx10xs (250 > 163] 3x(BD) 51 + 100 051 3 and 17
@+ 50 | 201 < 240 20x6x2
— 7 X@cm—i cm Round to
2x9x5 [ 90 > b1 }@ f nearest iy
What is the perimeter of What is the
this rectangle? erimefer o
6D [[31> 28] 22 || ol ENRY o] , <
3% 7 x2 —]@ 10 =204 + 102 4 x B5lcm Write at least 6 questions with the
k x7x ‘ 42 > 41 ) | =306cm = 3.06m J, = 204cm = 2.04m answer of@
_ 4= 12r3 or 122
ol = 1= = 51 4 or12.75 Circle the numbers which are smaller than 51 There are many
_ . - 25r1 or 25% . .
Bl +3=17 Bl 2= " . xxx z0l LV 55 X1 (61) C (100) different questions you
. _ . _ 8r3or83 .
(B1) 8= 6sorcs (Bl ~6= " 5 LXXXI(81) U (51 LOAV(Z4)  LVIII(58) could pick.
10rlor 101/
Bl +5= t)r‘ iy 5 Bl 7= 7r2or72/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a CIGSSI’T\GTC‘ to
B1) = 10="173V0 B 9= seases XXxirf  LXie2)(__ L(s50)]  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ fifty two o | 16 [24]32]40]48[56]64]72]80]88]09]
> > + - » = ~ —
Circe the tacts iger 1hor(52) ¢ | 2|18 ] 2430364248 54]60]066]72
7x8||[[iix12] ex8 [|l0x8]| 8x3 ( ) |
. . . Z z 9 18 | 27 36[45'54]63 72] 81 [ 90 | 99 | 108
3x7 | 7x7 |J2xs]| sx4 |Jox1l > — v ———
7 | a1]28]35]42] 49 56163 70| 77| 84
8 x 4 3x6 3x9 1% 5 6x7 L A A A A A
[ Work out each side, compare them and ) Th T Vet | h Write some f
write 2 symbol <, > or = 52 | 5 | 2 . factor pairs of @
oxax2 [ 60 > 521@ 2 = o . @
B2 - 10 51¢ 2
h2 « 6x5x3 —
Sxi0xs (250 > 156}3x® 6 - o 0+5 2 || 2and26
+ 150 02 20x 6x 2
@ L a , 2 x@cm , ) om 4 and 13 @ Rownd
2x9x5 [ 90 > 52}@ ! @ nearest up
What 1i}s1 the ptterirr;e:er of What is the
s reclangle! erimefer o
€ (32 > 28]71x2x2 || o, 1TENR) || s : <
= 208 + 104 4 x 52cm Write at least 6 questions with the
3x7x2 = @
k x 7 x ‘ 42 42 ] - 312¢m = 3.12m J, - 208cm = 2.08m answer of@
92) «I= 2 52 4= 1 Circle the numbers which are smaller than 52 There are many
52 3= rrioer7y3 | [B2) 2= 4 ¥xx 0] LV (55) X1 (61) C (100) different questions you
i _ 6brdorb: _ i .
182 8= " 45 @ "6 ordorsus LXXXI(81)| L sn| WXxiviza)  Lvingss) could pick
r2 or /
52) :5= © zor 1(1;)42 > @D 7= 3o XL (40) CX (110) Xcio1) | [ XXXIX(39) Ask a classmate to
52 = IO - 5r‘20:r5':.321/5 52 = 9 = 5r7 or 57/9 XXXI (31) Lx” (62) I. (5_0)- xc'x(gg) CheCk YOUI" QUZSTIOHS
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ fifty three o | 16 [24]32]40]48[56]64]72]80]88]09]
; * - & - > g - -~
Cirele the fscs biger han(©3) ¢ | 2 [ 18] 243036 ]42]48]54]60]66]72
7x8|||1nx12]| exs8 [[l0x8] 8x3 1 |
. z . z 2 9 18 | 27 36[45'54]63 72] 81 190 | 99 | 108
3x7 | 7x7 ||2xs5]| sx4 9x||]| p=—————— v ——
7 | a1]28]35]42] 49 56163 70| 77| 84
8 x 4 3x 6 3x9 I1x5 6 x7 \_ A A A .. ’ P.\
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 53 ‘ 5 | 3 . factor pairs of @
s (w55 @ || B 5 s o >
B3 =10 51¢3
hb3 < 90 | 6x5x3 N
@ [ ) 53 x100 5| 3|0 0 1and 53
sxi0xs (250 > 159 3x@3) || g3 - 00 045 3
@+ 150 L203 < 240 20x6x2
— 7 x@cm—b @cm Round g
2x9x5 [ 90 > b3 }@ f Neares s
What is the perimeter of What is the
this rectangle? erimefer of
€ (33> 28] 7202 || ouioe) ks | Al cauare? , J
' =212 + 106 4 x 53cm Write at least 6 questions with the
3x7Tx2 @ - 1o
\ x 7 x ‘ 42 < 43 ] ) | =318cm = 3.18m J, = 212cm = 2.12m answer of
_ _ 13rlor13%
93) =53 53 4= ornses Circle the numbers which are smaller than 53 There are many
A .~ _ 26rlor263 . .
53) +3= 1o (B3 2= " ) xxX 0]  VvEm WX en C (100) different que.s‘rlons you
| 53 +~ B = 6r50r65/8 53 +6 = 8r50r85/6 LXXXI(S].) I LI (51) Lxx|v(74 LV"I(58) COUId pICk
r3or 10 3/
53) = 5= 10 3°r 1(1).63 5 B3 7= 7r4or74/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
5r3 or 5 3/10 r questions.
B3 10=""4s55 B3 9= ssors8s XXXI3n| X2y L(soy]  XCIX(99) check your qu
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Write in words

Complete the sequence of multiples and circle the ones which are larger than

~ fifty four o | 16 [24]32]40] 4856 64]72] 80 % |
:: :: :: f: a'g g 2"a e - -
Cirle the facs iggr trn(84) ¢ | 12 |18 |24 |30 36] 42|48 54]60] 6672
r 7 ~ N ~/ o -
PO )] ex8 [(0x8) 8x3 9 | 18 |27 36[45 54 | 63 [ 72 | 81 | 90 | 99 | 108
3x7 | 7x7 |[|izxs|| sx4 ||9x Il = — —— 9 —. —
7 14
8 x 4 3x6 3x9 lesﬂ 6x7 L A AZIAZSI35A4ZI49 56,63170*77,,84
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, > or = 54 | 5 | 4 . factor pairs of
oxivi (60> 54 @) || B0 5 40 - @
54 = 10 5¢ 4
6x5x3 _N
[54<9O] o 54 x100 5 4|0 O 1and 54
5x 10 x5 [250> 162}3)( 54 100 045 4 2 and 27
+ 150 L204 < 240 20x6x2 ; xcm—"T Cm 3 and 18 —
2x9x5 90 > 54 nearest un;
o | @ ot e gt SERY | v 6 and 9 @
@ 20 [ 34> 28 |7x2x2 || a1 axmy S| | Femeler el b J
= 216 + 108 4 x 54cm Write at least 6 questions with the
3x7x2 - 10
| 42 < 44 )| = 324cm = 3.24m J’ = 216¢m = 2.16m answer °f
( _ Lo, 131 or13% )
o4) 1= = 54 4= or13.5 Circle the numbers which are smaller than 54 There are many
54 3= 18 B4 2= , XXX (30] LV (55) X1 (61) C (100) different que.s‘rions you
54 8= o o 54 6= o LXXXI(81) [m LXXIV(74)  LVII(58) could pick.
54) -5 = 1Or4oir1(1)(')84/5 B4 7= 7r50r75/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
54) - 10 - 5r40ir5§42/5 54) 9= o Xl X 62) Lso) XCX(99) check your questions.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ fifty five o | 16 [24]32]40]48[56]64]72]80]88]09]
' :: :: f: Y ' a4 Y - -
Cirele the fscs biger han(6B) ¢ | 2 [18]24]30]36]42] 48] 54 | 60 | 66 | 72
— T
7x8 Ix 12 6x8 10x 8 8 x3
. . . . . 9 18 127 | 36 I 45154163 |72 81 I 90 | 99 | 108
3x7 | 7x7 |lzxs|| sx4 [[ox1l p=—————— = —_— —
A 2| I
8 x4 3x6 3x9 I1x5 6x7 L A A A 8 35A4 49 56,63 70*77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 55 5 5 factor pairs of
10x 3 x2 { 60 > 55]@ By x 10 55 0 55
55 = 10 5¢5
b5 < 90 | 6x5x3 =
@ [ ) 55 x100 5| 5|0 0 1and 55
sx10xs (250 > 165] 3xGB) 55 + 100 0+55 || Bandl
@+ 150 L205 < 240 20x6x2
— 2 x@cm—" cm
2x9x5 [ 90 > 55}@ f
What is the perimeter of What is the
this rectangle? erimefer o
€ (35> 28] 7x2x2 || ouiie) i G o A raare? ,
ic7x2 | ]@ 0 =220+ 110 4 x 55¢cm Write at least 6 questions with the
{ o ‘ 42 <« 49 J | =330cm = 3.3m J’ = 220cm = 2.2m answer of
L= — 13r3o0r 132
55 ! i 55 or 13.75 Circle the numbers which are smaller than 55 There are many
. - . _ 27rlor27% . .
55) 3= wriowys (G5 2= 72 xxx z0l LV 55 X1 (61) C (100) different questions you
| hh 8 = 6r7or67/8 BH 6= 9rlor91/6 LXXXI(81) I LI (51) LXX|V(74 LV|||(58) could pICk'
55 5= 1 55 =7 = 7r60r76/7 XL (40) CcX (110) XCl (91) xxX|x(39) ASk a Classma'l’e‘ to
55 = IO - 5r‘ir‘0;.55) 1/2 55 = 9 = 9rlor91/9 XXXI (31) Lx” (62) I. (5_0)- xc'x(gg) CheCk YOUI" QUZSTIOHS.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
88

Sreth fifty six o | 16 [24]32]40] 48] 56[64]72] 80 % |

p $ ¢ <> ¢ - * > - -
Cirel the facts bisser 1han(86) [ ¢ | 2 |18 [24]30]3642]48]54]60]06]72

A N

> ® < ¢ < 7
7x8 [[nxiz|| exs [[loxs] 8x3 B A27“36[45A54 63 | 72 81|9O 99 | 108

3x7 | 7x7 || 12x5]|| Sx4 [|9xII p * > ¥ ¢ > - v v
A 2| | I
8 x4 3x6 3x9 x5 6x7 L A A A 8 35A4 49A56 63 70*77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 56 5 6 factor pairs of
10 x 3 x2 { 60 > 56]@ b x 10 516 0 56
€ (56 < 90 exsxs || 2070 o1 1 and 56
B xo 5| 6| 0 O
sxl0xs |250 > 168}3" 56 100 ' 0+5 6 [| 2and28
+150 | 206 < 240 20x6x2
@ L , 2 xcm . ) cm i 4 and 14
2x9x5 [ 90 > 56J® f ]
What is the perimeter of@ What is the 7 and 8
this rectangle? erimeter o
@ 20 [ (36 > 28 |7x2x2 || ox1in) GRne) S| | Fenmelerel :
3% Tx2 —]. 10 =224 + 112 4 x 56cm Write at least 6 questions with the
x 7 x ‘ 42 < 46 @ J | =336cm = 3.36m J: = 224cm = 2.24m answer of
96 1= 5 56 4= ™ Circle the numbers which are smaller than 56 There are many
B6 3= 18r2or182/3 (B +2= o4 XXX (30) LV (55) LXI (61) C (100) different questions you
866 8= 7 56 “ 6= 9rzerou3 LXXXI(81)| L 51)] LXXIV(74)  LVIII(58) could pick.
56 5= 11r1():r111.121/5 b6 7= s XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
56 - lo= "0 Y5 Be) +9= ozarous ¥xxisl  LXI (e2) Lo XCX(s9) check your questions.
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Write @ in words

-

Complete the sequence of multiples and circle the ones which are larger than @

.

~ fifty seven o | 16 [24]32]40]48]56[64]72]80]88]09]
' :: :: f: Y :: a4 Y - -
Cirele the fscs biger han(B7) ¢ | 12 |18 |24 |30 36] 42|48 54]60] 6672
' "4 ' d N N - _—
7x8 Ix 12 6x8 10 x 8 8x3
X . X . . 9 18 127 | 36 I 45 | 541 63| 72 | 81 I 90 | 99 | 108
3x7 | 7x7 |[|lzxs|| sx4 |[9x Il = — —— 9 — —
7 | 14 I I | I
8 x4 3x6 3x9 II'x5 6x7 L A A 21J_28 35A42 49A56 63 70*77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 57 5 7 factor pairs of
10x 3 x2 { 60 > 57]@ 57 x 10 517 0 57
57 =10 5¢7
€ (57 < 90]exsx: "7 x00 57 0 0 L and 57
sxl0xs |250 > 171}3"@ 57 + 100 ' 0+5 7 || 3and19
@+ 150 L207 < 240 20x6x2
— 2x cm—* cm
2x9%x5 [ 90 > 57}@ @ f @
What is the perimeter of What is the
this rectangle? erimeter o
@ 20 [ 37 > 28 |7x2x2 || oW 1ia TG NEn) S| | Fenmeler et b
3% Tx2 —]@ 10 =228 + 114 4 x 57cm Write at least 6 questions with the
{ o ‘ 42 <« 47 J | =342cm = 3.42m J’ = 228cm = 2.28m answer of
L= L4 = 14rlor 14%
57 ! %7 57 4 or 14.25 Circle the numbers which are smaller than 57 There are many
. - . - 28r 1or 28% . .
B7 +3=19 57 2 s XXX (30 LV (55) X1 (61) C (100) different questions you
Ca - ., — 9r3or9 i
57 8= masvs BT T6= oo poxxien|| U en]  Loavea)  Lvingss) could pick.
57 5= 11r‘20:r111.142/5 57 <7 = srtorsi7 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
57 < 10="""°"0 157} ~9= osorous XXXI(30)| X (62) L(50))  XCIX(99) check your questions.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
88

Boy ot fifty eight 8 | 16 [ 24 L32[4oI481 56 | 64 | 72 | 80 % |

p $ ¢ <> ¢ - * > - -
Cirel the facts bisser 1han(88) [ ¢ | 2 |18 [24]30]3642]48]54]60]06]72

v

> ® < ¢ < 7
7x8 [[nixi2]| exs [lloxs] 8x3 B A27“36[45A54 63 | 72 81|9O 99 | 108

3x7 7x7 2x5|| S5x4 []ox1l > & <> > ® > - = v
7 | 4| 21|28|35[42[49[56[63]70]77] 84
8 x 4 3Ix 6 3)(9 “)(5 6 x7 \_ A A A A 9JL o o
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, > or = 58 5 8 factor pairs of

0 x 3 x2

60 > 58 | 68 59 x°© |5 8 0 58

[
[[58<90]6><5x3 _58‘::20 R 2‘8 L and 58
|

98 x 190 | © | |
S5x10x5 250 > 174 3)( 58 +|00_ 0‘5 8 2 and 29
+|50 208 < 240 20x6x2
— 2 x.cm—" ) cm
2x9x5 [ 90 > 58} @ !
What is the perimeter of What is the
this rectangle? erimeter o
68) -2 | 38 > 28| 7x2x2 || ou1ie)i(Bxbe) S| | e :
- + ite at least 6 questions with the
3% Tx2 ]. o 232 + 116 4 x 58cm Wri q
‘ 42 <« 48 @ ) - 348cm = 3.48m J, = 232cm = 2.32m answer of
- 4= 14r2 or 143 1
98 1= 58 58 4 or 145 Circle the numbers which are smaller than 58 There are many
B8 3= wrior93 (B 2= L XXX (30 LV (55) X1 (61) C (100) different questions you
o _ 7r2or8: L, could pick.
| Bg 8= " ., B8 6= o9r40r92/3 | LXXXI(81) Ll (51) LXXIV(74 LVIII(58) WP
11r3 or 11 3/5
B8 5= o116 B8 7= sreor82/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
B8 < 10= "oa |B8) v9= srarsus xxxiisn| X)Ly XCX(o9) check your questions.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ fifty nine o | 16 [24]32]40]48]56[64]72]80]88]09]
' :: :: f: Y :: a4 Y - -
Cirele the fscs biger han(69) ¢ | 12 |18 |24 |30 36] 42|48 54]60] 6672
7x8 ||| |2| 6x8 |(10x8] 8x3 6 | & | o> | Y 151
. z . z . 9 18 | 27 | 36 I 45 | 54 | 63 | 72| 81 | 90 | 99 | 108
3x7 | 7x7 |Jzxs]|| sx4 ||ox1l p=—————— $ Sm— —
A 2| | I
8 x4 3x6 3x9 I1x5 6x7 L A A A 8 35A4 49A56 63 70*77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 59 | 5 | 9 . factor pairs of
10 x 3 x2 { 60 > 59]@ 59 x 10 519 0 59
59 -+ 10 5¢9
Hh9 <« 90 | 6x5x3 =
[ ) 59 xlo 5 9|0 O Land 59
Sx10x5 [250 > 177]3)‘ 59 - 100 O+¢5 9
+ 150 L209 < 240 20x6x2
— 2x cm—*, cm
2x9x5 [ 90 > 59} !
What 1i; the ptterirr;e:er of@ What is the
is rectangle? erimefer o
€ (39> 28] 7x2xz || ouile) i G & Al raare? :
1 7x2 —}. 0 - 236 + 118 4 x 59¢cm Write at least 6 questions with the
k x7x ‘ 42 < 49 @ J | = 354cm = 3.54m J: = 236¢cm = 2.36m answer of
_ 4= 14r3 or 142
99) 1= 59 4 or 14.75 Circle the numbers which are smaller than 59 There are many
. - _ 29rlor 293 . .
59) 3= w1923 (g +2= 7 XXX (30 LV (55) X1 (61) C (100) different questions you
| 59 -+ 8 = 7r3or83/8 BQ +6= 9r50r95/6 LXXXI(81) LI (51) LXX|V(74 LV|||(58) could pICk'
59) 5= 11r'4;:r111.184/5 B9 <7 = 8300837 XL (40) cX (110) XCl (91) XXXIX(39) Ask a classmate to
59) - 10 - 5r9°2r5§99/1o 59) <9 = or5aro5s ¥xxisl  LXI (e2) Lo XCX(s9) check your questions.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ sixty o | 16 | 24] 32] 40| 48] 56[ 64| 72] 80] 88| 96]
Cirele the fscs biger han(60) ¢ | 2 [ 18] 243036 ]42]48]54]60]06]72
— —
7x8 Ix 12 6x8 10x 8 8x3
. z * 2 . 9 18 127 | 36 I 45 | 54 | 63 |72 | 81 | 90 | 99 1108
3x7 | 7x7 | 2x5 | sx4 ||ox1 I=——t===_=uu==_ = —————
7 | 14 | | |
8 x4 3x6 3x9 x5 6 x7 \ A A 21“28 35A42 49A56 63A7OJ 77| 84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 60 | 6 | 0 . factor pairs of
10 x 3 x 2 { 60 = 60] 60 x 10 6 0 0 60
+ ¢+ 0
[ 60 < 9o]sx5x3 60 - 10 6 1 and 60
60 x00 6 | 0 0 O
sx10xs (250 > 180 3x@0) @ -0 “0+ve o |l 2and30
+|50 L21o < 24@20x6x2 : — 3 and 20
— 2 x cm—* . .
2x9xs [ 90 > 60 @0 T || 4and15
What is the perimeter of What is the an
this rectangle? erimefer of
20 | 40 > 28 7x2x2 || o120}t (260) S| | e Sand12 |}
3% 7x2 ﬁ. 10 =240+ 120 4 x 60cm Write at least 6 questions with the
x 7 x ‘ 4?2 < 50 @ ) = 360cm = 3.6m J: = 240cm = 2.4m 6 and 10 answer of
60) < 1=« 60 4= © Circle the numbers which are smaller than 60 There are many
60 3= 20 60 2= 30 XXX (30 LV (55) X1 (61) C (100) different questions you
|60/ +8 = 7raorsiorss (60 T 6= 10 | LXXXI(81) L 51|  LXXIV@z4)[  LVIII(58) could pick.
60 5= 1 60 ~7= sraors4/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
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Write in words Complete the sequence of multiples and circle the ones which are larger than @
~ sixty one o | 16 [24]32]40]48]56[64]72]80]88]09]
' :: :: f: Y :: a4 r ' a"g
Ciree the tacts iger thar(61) ¢ | 2|18 ]24]30]36]|42]48]54]60]66]72
— e ——
7x8 'x 12 6x8 10x 8 8 x3
. . * 2 . 9 18 | 27 | 36 I 45 | 54 | 63 | 72| 81 | 90 | 99 | 108
3x7 | 7x7 | 2x5 | sx4 ||9xII p=—————— = =t v
A 2| | I
8 x4 3Ix6 3x9 IIx5 6x7 . A A A 8 35A4 49A56 63ﬁ70 77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 61 6 1 factor pairs of
10x 3 x2 { 60 <« 61] 61 x 10 6| 1 O 61
+ 10 611
[ 61 < 9o]sx5x3 6l 1 and 61
60 xl00 6| 10 O
Sx10x5 [250 > 183]3)‘ 61 + 100 0+ 6 1
+ 150 L 211 < 240 20x6x2
— 2x cm—*, cm
2x9x%5 [ 90 » 61}@ S— I f
al 1§ e perimeler o What is the
this rectangle? . erimefer of
20 | 41> 28|7x2x2 || oz TEen | | s :
372 . 0 = 244 + 122 4 x 6lcm Werite at least 6 questions with the
\ x 7 x ‘ 42 < b1 @ J | =366cm = 3.66m = 244¢cm = 2.44m answer of
_ 4= 15r1 or 153 )
61) - 1= 61 4 or15.25 Circle the numbers which are smaller than 61 There are many
A _ 30rlor30% . .
61 3= 20tor20v3 |(g]) 2= T ¢ XXX (30 LV (55) X1 (61) C (100) different que.s‘rlons you
| 61 +~8 = 7r50r85/8 61 ~6 = 10rl or 10 1/6 | LXXXI(81) LI (51) LXX|V(74 LV|||(58) COUId pICk'
12rlor 12 1/5
61 5= or 12.2 61 ~7= 8r50r85/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
61 +10=""5" Tlo1) +9= srersms xxxian]  Wiea| L)  xcxoe) check your questions.
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Write in words Complete the sequence of multiples and circle the ones which are larger than @
~ sixty two o [ e [24]32] 40 I 48 56| 64| 72| 80| 88 96 |
- < <> - < > - < =
Cirele the fscs biger han(62) ¢ | 2 [ 18] 243036 ]42]48]54]60]06]72
s :: :: : : - ;; -~ 1;
7x8 Ix 12 6x8 l 10 x 8 I 8 x3
. . * . . 9 18 127 | 36 I 45 | 54 | 63 | 72| 81 | 90 | 99 | 108
3x7 | 7x7 | 2x5 | sx4 |[ox1l I=——t===_=uu==_ = =t v
A 2| | I
8 x4 3x6 3x9 II'x5 6 x7 . A A A 8 35A4 49A56 63370 77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 62 | 2 factor pairs of
o (w0 )@ || @ o2 - -
+ 10 6 ¢ 2
[62< ]6x5x3 62 1and 62
62 xlo 6 | 2|0 O
5x 10x5 [250 > 186} x 62 - 100 0+6 | 2 2 and 31
+|50 L212 < 240 20x6x2
— 2x cm—*, cm
2x9x5 [ 90 > 62}@ S— I f
al 1§ e perimeler o What is the
this rectangle? . erimefer of
20 | 42 > 28| 7x2x2 || oxzdTEen) S| | s ,
1 7x2 —}. 0 = 248 + 124 4 x 62cm Write at least 6 questions with the
\ x 7 x ‘ 42 < B2 @ J | =372em=3.72m = 248cm = 2.48m answer of
L= .4 = r2or 15%
62 | = 62 62 4 or15.5 Circle the numbers which are smaller than 62 There are many
62 3= 20r20r202/3 (R 2= 3 XXX (30 LV (55) X1 (61) C (100) different questions you
. _ 7r6bor83% _ .
162 8= 7 62 6= 10rzor101/3 xxien||  u ey|  wxxivza) [ LV ss) could pick.
62 5= 12r02r01r2f 2/5 |62 ~T = sr6or86/7 XL (40) CX (110) Xcio1) | [ XXXIX(39) Ask a classmate to
. r2 or . check your questions.
62 +l10=° irég V5 g2 9= orsoross XXXI(31)]  LXI(62) L(50))] XCIX(99) your4
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ sixty three o |16 [24]32] 4oI 48 | 56 [ 64 [ 72| 80 % |
; * - & < > ~
Circle the facts bigger ihan | 6 12 \ 18 I 30 36 I 48 54 | 60| 66 | 72
7x8 |[lIxI12)| 6x8 [Jl0x8] 8x3
<8 x| 6x x8) 8x o [ 18 |27 36[45 54[63|72 81 90]99 108
3x7 | 7x7 | 12x5 | 5x4 [|9x Il p—————— g Q— -
AL [s5] 42[49] 56 [ e3[ 70]
8 x4 3Ix6 3x9 IIx5 6x7 . A A 21J 28 35A42 49 56A63 70 77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some
write 2 symbol <, > or = 63 3 factor pairs of
ox3x2 [ 60 < 63 ] (@I 63 x 10 6 0 63
+ 10 6 ¢ 3
[63< 9o]sx5x3 63 T3 10 o 1 and 63
63 x 100
sx10xs (250 > 189) 3x(63) © o ot el 3 3 and 21
+|50 L213 < 240 20x6x2 : — 7 and 9
— 2x cm—*,
2x9x5 [ 90 > 63} f
What is the perimeter of What is the
this rectangle? erimefer o
20 [ 43 > 28 |7x2x2 || ouipe)e(ax63) o] | Pl :
372 —}. 0 - 252 + 126 4 x 63cm Werite at least 6 questions with the
\ x7x ‘ 42 < 53 @ J | =378cm=3.78m = 252cm = 2.52m answer of
_ . 15r3 or 153 )
63) < 1= e 63 4 or 1575 Circle the numbers which are smaller than 63 There are many
. _ . — 31rlor 31% . .
63 3= 2 63 2 i XXX (30 LV (55) X! (61) C (100) different questions you
.o — _  10r3or10% ick.
|63 8= 77ere7e 1163 T6= s oxxien[ U ] Loavea) [ Vil s) could pick
63 ~5= "R B3 +7= o XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classmate to
63 - 10=T00 1@ Lo e BT Lso) XCX(99) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
sixty four s | 16 |24|32]40]|48]|56]64]72] 80 % |
(30 to 99) A A A
' N 4 W ﬂ'
Cirel the facts bisser than(@4) ¢ | 2|18 ]24]30]36]|42]48]54]60]66]72
7x8 |[JIx12]] 6x8 [Jlox8]| 8x3 ( ) 1 |
<8 |[x2f] ex x8)| 8x o [ 1 |27 36[45 54[63|72 81 90]99 108
3x7 | 7x7 | 12x5 | Sx4 ||9x Il —————— 9 Sm— =
7 | [s5] 42[49] 56 [ e3[ 70]
8 x4 3x6 3x9 x5 6 x 7 \ A A 21JL28 35A42 49 56,L63 70 77984
[ Work out each side, compare them and ) Th H| T Vet | h Write some
write 2 symbol <, > or = 64 | 6 | 4 | factor pairs of
10x 3 x2 { 60 <« 64] 64 * 10 6| 4 O 64
[64< O]sxSxa 64 + 0 614 1 and 64
64 x100 6| 4|0 O
S5x 10x5 [250 > 192]3x@ 64*'00. "0+ 6 | 4 2 and 32
+150 | 214 < 240 20x6x2 1
@ L 5 xcm—" cm 4 and 16
2x9xs [ 90 > 64 )@ T 8 and 8
What is the perimeter of What is the an
this rectangle? erimefer o
20 [ 44 > 28 |Tx2x2 || Gu DG xen | | Pl et :
3% 7x2 ﬁ. 0 = 256 + 128 4 x 64cm Write at least 6 questions with the
\ x7x ‘ 42 < 54 @ J | = 384cm = 3.84m = 256cm = 2.56m answer of
64) - 1= e 64 4= 1 Circle the numbers which are smaller than 64 There are many
64 3= aror2iy3 | (g4 +2= 5, XXX (30 NI X! (611 C (100) different que.s‘rions you
64 8=¢ 64 ~ 6= 1ortorio2s xxxien|[ L By LXxvza) [ LVINEs) could pick.
64 5= 12r:r‘olr'2.182 5 |64 +T7 = otoro1/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
64 - 10=""100% @A) 9= Tarus xxxianl WXine2__ Loy XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ sixty five o [ 16 ] 24]32] 4oI 48 | 56 | 64| 72 80 % |
p P > > ¥ =
Cirel the facts bigser than(@5) ¢ | 2|18 ]24]30]36]|42]48]54]60]66]72
7x8 ||lIx12]| é6x8 ox8| 8x3 ( | 1 |
k| U x x8)| 8x o | 18 |27 36[45 54[63|72 81 90]99 108
3x7 | 7x7 | 12x5 | sx4 ||9x1l = — —— » pe— =
ANDOOD0DAAn
8 x4 3x6 3x9 x5 6x7 L A A A 8 35A4 49 56A63 70 77‘,84
[ Work out each side, compare them and ) Th H| T Vet | h Write some f
write 2 symbol <, > or = 65 | 6 | 5 . factor pairs of
10 x 3 x2 { 60 <« 65] 65 x 10 6 | 5 0 65
+ 6 ¢+ 5
€ (65 < 90 exsxs ||| 27 1 and 65
65 x 100 6 510 O
S5x 10x5 [250 > 195]3)( 65*'00. " 0+6 | B 5and 13
+|50 L215 < 240 20x6x2
— 2x cm—* cm
2x9x5 [ 90 > 65} f
What is the perimeter of What is the
this rectangle? erimefer o
20 [ 45 > 28| 7x2x2 || o130 o x6n) S| | ermelero b
3x7x2 . 10 =260+ 130 4 x 65cm Write at least 6 questions with the
k x7x ‘ 42 < 55 @ J | =390cm = 3.9m = 260cm = 2.6m answer of
S = - 16rlor 163
65 ! 69 65 4 or 16.25 Circle the numbers which are smaller than 65 There are many
. _ . _  32rlor32% . .
65 3= areora12s |(gf 2= T XXX (30 LV (55) X! (61) C (100) different que.s‘rlons you
| 65 +~8 = 8rlor81/8 65 +~ 6 = 10r50r105/6 | LXXXI(81) LI (51) LXX|V(74 LV|||(58) COUId pICk'
65 =+~ 5= 13 65 =7 = 9r20r92/7 XL (40) CcX (110) XCl (91) xxX|x(39) ASk a Classma'l’e‘ to
65 10 =% 65 9= 72or72s XXX13nl X (e2) Ls0)]  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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4 Write in words Complete the sequence of multiples and circle the ones which are larger than
~ sixty six o [ 16 [24] 32 I 4oI 48| 56| 64| 72] 80 88 | 96 ]
Cirel the facts bisser than(@6) ¢ | 2 |18 |24 |30] 36| 42| 48] 54] 60] 6] 72

‘. .. . r, — N
7x8 |liix12]] exs8 |Jlox8] 8x3
| : 2| Ox o | 18 |27 36[45 54[63|72 81 | 90 99]108
3x7 | 7x7 | 2x5 | sx4 ||9ox1i ——————s » T
AL [ 35] 42| 49 ] [ I
8 x4 3x6 3x9 I1x5 6x7 L A A 21J_28 35A42 49 56A63 70*77 84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 66 | 6 | 6 . factor pairs of
10x3x2 { 60 < 66] 66 * 10 6 6 O 66
@) (66 < 90]exsxs || 986" 616 1 and 66
66 x00 6| 6, 0 O
S5x l0x5 [250 > 198}3)( 66 - 100 0+ 6 6 2 and 33
@0+ =0 (216 < 240 0x¢x2 3 and 22
— 7 x.cm—" B cm N
2x9xs (90 > 66 |@0) | T || 6and1t
What is the perimeter of What is the an
this rectangle? erimeter o
20 [ 46 > 28| 7x2x2 || oW 3V ENes) S| | prmeter o b
3% 7 x2 —]. 10 =264 + 132 4 x 66cm Write at least 6 questions with the
x7x ‘ 42 <« 56 @ ) - 396¢cm = 3.96m J, = 264cm = 2.64m answer of
_ 16r2 or 163 1
66 1= eo 66 4 or 16.5 Circle the numbers which are smaller than 66 There are many
66 3= 2 66 2= 33 XXX (30 LV (55) X! (61) C (100) different questions you
. _ 8r2or8% . _ i
166/ 8= " g2 66 6= u | xxien||  u ey|  wxxivza) [ LV ss) could pick.
66 <5 = 13r01r01r5§ 1/5 66 7= or3or93/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
66 =10 = 6r‘<6)r0£‘: 3/5 66 +—9 = 7r3or71/3 XXXI (31) LXII (62) L (5_0)- xc'x(gg) CheCk YOUI" QUZSTIOHS.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ sixty seven o [ 16 [24] 32 I 4oI 48| 56| 64| 72] 80 88 | 96 ]
Cirel the facts bisser than(67) ¢ | 2|18 ] 2430|3642 48]54]60]066]72

\ M .. r, R, —
7x8 |[|lIx12]| 6x8 [[l0x8] 8x3
<8 |[Ux 2] 6x x8f| 8x o | 18 |27 36[45 54[63|72 81 | 90 99]108
3x7 | 7x7 | 12x5 | 5x4 |9xII| p—————— * s
AL [s5] 42[49] 56 ] e3[70] 77]
8 x4 3Ix6 3x9 IIx5 6x7 . A A 21J_28 35A42 49 56A63 70*77 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 67 | 6 | 7 . factor pairs of
10 x 3 x2 { 60 < 67] 67 * 0 6| 7 O 67
[67< 0] exsxa || 2077 °17 1and 67
67 x0 6| 7, 0 O
5x 10 x 5 [250 > 201]3)( &) -+ 100 0b 6| 7
+|50 L217 < 240 20x6x2
— 2x cm—*, cm
2x9x5 [ 90 > 67}@ What is th I f
al 1§ e perimeler o What is the
this rectangle? . erimefer of
20 [ 47 > 28 |71x2x2 || ou38TGen o] | Femelers :
372 . 0 - 268 + 134 4 x 67cm Werite at least 6 questions with the
k x7x ‘ 42 < 57 @ J | = 402cm = 4.02m = 268cm = 2.68m answer of
= | = . 4 = lér3orl6 3/4
67 ! *7 67 4 or 16.75 Circle the numbers which are smaller than 67 There are many
. _ . _ 33rlor33: . .
67 3= 2rior22vs |(g7) 2= T 00 XXX (30 LV (55) X! (61) C (100) different que.s‘rlons you
67 8= 83or838 Q7 +6= trtort1i/e LXXXI(81) U |  LXXIv74) [ Vil 58) could pick.
r2 or 13 2/
67 =5="1 jr‘ 15.: 5 167 <7 = oraoroas XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classma‘re‘ to
67 - IO - 6r‘7oir‘6.677/10 67 = 9 = 7r4 or 7 4/9 XXXI (31) Lx” (62’ I. (5_0)- xc'x(gg) CheCk YOUI" QUZSTIOHS.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~~ sixty eight o [ 16 [24] 32 I 4oI 48| 56| 64| 72] 80 88 | 96 ]
Cirel the facts bisser than(68) ¢ | 2 |18 |24 |30] 36| 42| 48] 54] 60] 66 ] 72

\ .. r, R, —
7x8 |[|lIxi2]] 6x8 [|Jlox8] 8x3 ( 1 |
x8 |[ux) ex x8)| 8x o |18 |27 36[45 54[63|72 81 | 90 99]108
3x7 | 7x7 | 2x5 | Sx4 ||9xIl ; — g S —
AL [s5] 42[49] 56 ] e3[70] 77]
8 x4 3x6 3x9 x5 6 x7 L A 21J_28 35A42 49 56A63 70“77 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some
write a symbol <, >or = 68 | 6 | 8 | factor pairs of
10x3x2 { 60 < ] 68 * 10 6 8 O 68
+ 10 1
[68< ]6x5x3 68 618 1and 68
68 x10 6| 8 0 O
S5x l0x5 [250 > 204}3)(. 68+|00. | 0;6 8' 2 and 34
+|50 L218 < 240 20x6x2 4 and 17
— 2x cm—*, cm
2x9x5 [ 90 > 68} f
What is the perimeter of What is the
this rectangle? erimeter o
20 [ 48 > 28 |7x2x2 || ou13) (5 x68) o] | Pl ,
3% Tx2 —]. 10 =272 + 136 4 x 68cm Write at least 6 questions with the
k x7x ‘ 42 < 58 @ J | = 408cm = 4.08m = 272cm = 2.72m answer of
68 1= ¢s 68 “4= 1 Circle the numbers which are smaller than 68 There are many
68 3= 22rzor222/3 (B8 2= 34 XXX (30 NI X! (611 C (100) different questions you
. _ 8r4or8: _ .
168 8= 45 68 6= irzorinys xxien||  u ey|  wxxivza) [ LV ss) could pick.
68) - 5= 13?,.01;_163 3/5 68 7= o5or95/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
68 10 = 6"?:;24/5 68 9= 7r50r75/9 XXXI1(31) LXI1 (62) L(50)) XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ sixty nine o | 16 [24] 32 I 4oI 48 |56 | 64 72| 80| 88 %]
Circle the facts bigger ihan | 6 12 \ 18 I 30 36 I 1 48 54 | 60 | 66 | 72

7x8 |[[lIx12]| 6x8 [[l0x8] 8x3 (o | o [ o= [ [
<6 {lix2)] exs |[10x8]) o« o | . |27 36[45 54[63 72 [ 81 90 | 99 [108
3x7 | 7x7 | 12x5 | Sx4 |9xII| — e = -
7 | 1 | | |
8 x4 3x6 3x9 1% 5 6 x7 L A A 21A28 35A42 49L56A63 70) 77| 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some
write 2 symbol <, > or = 69 | 6 | 9 . factor pairs of
10x3x2 { 60 < ] 69 x 10 6 9 0 69
€ (69 < 0] exsxa || 3977 °1 2 1 and 69
69 xl0 6| 9 0 O
S5x l0x5 [250 > 2013)(@ 69+|00. | 0;6 9' 3 and 23
+|50 | 219 < 240 20x6x2
— 2x cm—, cm
2x9x%5 [ 9 > 69} !
What is the perimefer of What is the
@ » (49> 281101 || oubiytiles | iy
is square? -
3% 7 x2 . 10 = 276 + 138 4 x 69cm Write at least 6 questions with the
k x7x ‘ 42 < 59 @ J | = 414cm = 4.14m = 276¢cm = 2.76m answer of
_ .4 = rlor 17%
69) 1= 69 4 or17.25 Circle the numbers which are smaller than 69 There are many
. _ . - 34rlor 343 . .
69 3= 23 69 2 345 XXX (30 v osll W en C (100) different questions you
. = . _  Ur3oril} .
69 <8=esoress (g9 ~6= T U, LXXXI(81) 0 on]  Doavea) (Vi Es) could pick.
69 5= 13r:rolr'5 183 Y5 169 7= soroes XL (40) CX(110)  XCI(91) | | XXXIX(39) :skka classma‘re- to
r9or 69/ .
69 < 10=""5"" 169 ~9= mewr7es XXX13nl X (e2) Ls0)]  XCIX(99) check your questions

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ seventy o | e [24]32 I 4oI 48| 56| 64| 72] 80 88 | 96 ]
Circle the facts bigger ihan 6 12 18 I 30 36 I 42 48 h4 60 66 | 72

‘. .. . r, — N
7x8 ||lx12]| 6x8 [Jl0x8] 8x3 ( | 1 |
x8 |[Ix )] ex x8) 8x o [ 18 |27 36[45 54[63|72 81 | 90 99]108
3x7 | 7x7 | 12x5 | sx4 |[|9ox1l —————— * —= ——,
7 | [ 35]42] 49 [77 [ 4]
8 x4 3x6 3x9 x5 6 x 7 \ A A 21“28 35A42 49 56,L63A7O /7 | 84
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, >or = 70 | 7 | 0 | factor pairs of
10 x 3 x2 [ 60 < 70] 70 x 10 7, 0 O 70
@ (70 < 90 exsxs ||| Q7 719 1and 70
70 xw00 7/ 0 O O
5x10x5 |250 > 210]3)(@ @ - 1o 2 and 35
+|50 Lzzo < 240 20x6x2 5 and 14
— 2x cm—*, . cm
2x9xs [ 90 > 70 | @0 _ ! || 7and10
What is the perimeter of What is the an
this rectangle? erimefer o
20 [ 50 > 28| 7x2x2 || ou1a0)s(3x70) | | ermelerof :
3x7x2 . 10 =280 + 140 4 x 70cm Write at least 6 questions with the
x7x2 | 42 < 60 ] | = 420em = 4.2m J’ - 280cm = 2.8m answer °f
- o4 — l7r2ori7% ) ]
/0 -1=710 70 4= or17.5 Circle the numbers which are smaller than 70 There are many
70 3= 2’2313 |{FQ) +2= 35 XXX (30 LV (55) LXI (61) C (100) different questions you
. _ 8réor8: . _ .
(70 8= s 70 © &= urdornzs xxien||  u eyl  wxxiveze) [ LViNEs) could pick.
70 +5= 14 70 +7= 10 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
70 < 10=7 700 <9 = 770077s9 Xxxisn| - Wiz L))  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write @ in words Complete the sequence of multiples and circle the ones which are larger than @
~ seventy one o | e [24]32 I 4oI 48| 56| 64| 72] 80 88 | 96 ]
Circle the facts bigger ihan@ 6 12 18 I 30 36 I 42 48 h4 | 60 | 66 | 72

\ M .. r, R, —
7x8 |[|lIx12]| 6x8 [|Jl0x8] 8x3
<8 (xR ox8 [{0x8f] 8x o | 18 |27 36[45 54[63|72 81 ] 90 [ 99 [108
3x7 | 7x7 | 2x5 | Sx4 |[9x Il I=——t===_=uu==_ = o
AEIEIEIEEE) [7]5¢)
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49 56A63,L7O 77| 84
[ Work out each side, compare them and ) Th | H | T Uet h Write some
write a symbol <, >or = 71 | 7 | 1 | factor pairs of
10 x 3 x2 { 60 < ]@ 71 x 10 7/, 1, 0 71
+ 10 1
@ (71 < 90]exsxs ||| 2 AR 1and 71
71 x 100 7 0 0
5x 10 x5 [250 > 213}3)(@ @ - oo ot 711
@+ 150 L221 < 240 20x6x2
— 2 x@cm—" cm
2x9x5 [ 90 > 71}@ f
What is the perimeter of What is the
@ 90 [ 51 > 28 ] 7 %2 x2 this rectangle? perimefer of
(2x142)+(2x71) cm this square? -
3x7x2 ‘ 42 < 61 @ 10 =284 + 142 J' 4 x 71cm Write at least 6 questions with the
L ) | =426cm = 4.26m = 284cm = 2.84m answer of
( _ o4 _ 17r3or173/4 )
) 1= 71 4= or 17.75 Circle the numbers which are smaller than 71 There are many
_ . _ 35rlor35% . .
71 3= ar2or2zes (1) 2= 7 XXX (30 LV (55) X! (61) C (100) different que.s‘rlons you
| 71 - 8 = 8r70r87/8 71 +—6= 1ir50r115/6 LXXXI(81) LI (51) LXX|V(74 LV|||(58) could pICk'
71 =5= "B 7L 7= oneowr XL40)|  CX(u0)  XCIn) | [ XXXIX(39) Ask a classmate to
71 < 10= 7’"10":77.11/10 71 +9= 78or78/9 XXXI3n(f X1 (62) L(50)]  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of multiples and circle the ones which are larger than @
(o7 99 seventy two o | 16 | 24] 32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan@ | 6 12 | 18 I 30 36 I 48 54 | 60 | 66 | 72 I
7x8 |lx2) 6x8 |[10x8) 8x3 o | 18 |27 36[45 54[63 72|81 90 | 99 | 108)
3x7 | 7x7 | 2x5 | s5x4 [[9x1l I=——t===_=uu==_ . - ———
7 14 [ ]
8 x4 3x6 3x9 II'x5 6 x7 L A A 21JL28135A42149A56]\63A7O 77‘,84
[ Work out each side, compare them and ) Th H| T Uet | h Write some f
write a symbol <, > or = 72 7 2 factor pairs of @
o [ 60 72| @ || 72x0 7 2 0 Z
@[72< ]6x5x3 R 7y land 72
72 x10 | 7 2| 0 O
5x 10x5 [250 > 216]3x® 72 - 100 | T o0s 7| 2 2 and 36
@+ 150 L222 < 240 20x6x2 @ 3 and 24
— 2x cm—, cm
Zx9Ix5 [ %0 > 72 J @ What is the perimeter of T w@he 4 and 18
this rectangle? .
@ 20 | 52 > 28] 7x2x2 (2x148)+ (2x72) ‘| | Cormeter of 8and9 |3
= 288 + 144 4 x 72cm Write at least 6 questions with the
3x7Tx2 - 10
| 42 < 62 ]@ J | = 432¢m = 4.32m J’ - 288cm=288m |__6.and 12 || answer of
/2 1=7 72 4= 8 Circle the numbers which are smaller than 72 There are many
72 3= 24 72 2= 3 XXX (30 LV (55) X! (61) C (100) different questions you
@ - 8=09 72 6= 1 LXXXI(81) LU 5| wxXxivza)[ LviIil(5s) could pick.
72 5= 14”5;1’:: 2/5 72 7= 10r20r102/7 XL (40) CcX (110) XCl (91) XXXIX(39) Ask a classmate to
72 < lo =7r2°:r7?21/5 22) +9= ¢ wxxiol  LXI (62) Lso) XCX(99) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ seventy three o | e [24]32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan@ 6 12 18 I 30 36 I 48 h4 60 | 66 72 I

‘. .. . r, |
7x8 |[lx12]| ex8 |Jlox8]|[ 8x3
<0 || e ; x8]| 8x o | 18 |27 36[45 54[63 72| 81 | 90 | 99 | 108]
3x7 | 7x7 | 12x5 | 5x4 |[|9xll ——————s » 9 e v
T e s e e o o7 Lo
8 x4 3Ix6 3x9 IIx5 6x7 . A A A 8 35A4 49A56 63A7O 77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f )
write a symbol <, > or = 73 | 7 | 3 . factor pairs of @
ooxz [0 73|@ || BBxe 7 30 &
+ 10
@ [ 73 < 90]exsxs || 2 13 1 and 73
73 xw0 7/ 3, 0 O
S5x 10x5 [ 250 > 219}3)‘@ 73 - 100 O+« 7 3
®+|50 { 23 240 20x 6 x 2
— 2 x@cm—" cm
2x9x5 [ 90 » 73J® f
What 1i; the p?rin‘;e:er of What is the
is rectangle? erimefer o
@ 20 [ 53 > 28 |7x2x2 || tae)s@x7n) o] Fmelerof :
372 @ o = 292 + 146 4 x 73cm Werite at least 6 questions with the
x7x 42 < 63 )| = 438cm = 4.38m J, - 292¢m = 2.92m answer of
L] = -4 = 18rl or 18%
73 =1 73 73 4 or 18.75 Circle the numbers which are smaller than 73 There are many
A .~ _ 36rlor363 . .
73) 3= 223 |(73) 2= T 0 XXX (30 LV (55) X! (61) C (100) different questions you
g = L g = could pick.
| 73 =8 = 9rlor91/8 73 6 = 12rior121/6 LXXX|(81) LI (51) LXX|V(74 LV|||(58) p
r3or /
73) =5 14 03r 14.1:3 5 73 7= 10r30r103/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
73 < 10= 7T @) L 9= giasys xxxin]l izl Lsoy)  Xxexcog) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.




Write in words Complete the sequence of multiples and circle the ones which are larger than

~ seventy four o | e [24]32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan | 6 ] 12 1 18 ‘ I 30 | 36 I 48 54 | 60 | 66 | 72 I
7x8 JlixR| exe {lox8]l Bx3 | [ 5 | s w:27:_36[45A54I()3A72|81 90 | 99 | 108)

3x7 | 7x7 | 2x5 | 5x4 9x||] e

1r N ' “
7 | v Jet]es[35]42]49]56] 3] 70 77] 84]
8 x4 3x6 3x9 II'x5 6 x7 L A A A 8 35A4 49A56 63A7O 77‘,84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f )
write a symbol <, > or = 74 | 7 | 4 . factor pairs of
owxz (60 74 @ || Tr0 7 40 e
[74< ]6x5x3 _74_:"3 71 4 1and 74
74 xl0 7/ 4 0 O
5x 10 x5 [ 250 > 22}3)( 24) - 100 0+ 7| 4 2 and 37
+|50 { 24 < 240 20x6x2
D E— Y cm—*, B cm
2x9x5 [ 90 > 74} ! '
What is the perimeter o'F What is the
this rectangle? erimeter o
20 [ 54 > 28] 7x2x2 || ouugExTa | | s :
3% Tx2 [ﬁ. 10 = 296 + 148 4 x 74cm Write at least 6 questions with the
42 <« 64 @ J | = 444cm = 4.44m J: = 296¢cm = 2.96m answer of
o 4= 18r2 or 18 % ) ]
4 1= 74 ¢4 or18.5 Circle the numbers which are smaller than 74 There are many
74) 3= 24r20r2423 (74 2= 37 XXX (30 LV (55) X! (61) C (100) different questions you
. — 9r2or9 g = could pick.
74 8= "o 74 ~6= 2oy XxXxien|| L en|  Lavza) [ LVIlIss) P
14r4 or 14 4/
r4 or i .
74 10=""7"" (q4) ~9= wrasas XXX13nl X (e2) Ls0)]  XCIX(99) check your questions
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Write @ in words Complete the sequence of multiples and circle the ones which are larger than @
~ seventy five o | e [24]32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan@ 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72 I

\ M .. r, . —
7x8 |(UxRf] 6x8 |[lox8) 8x: o | 18 |27 36[45 54[63 72|81 90 | 99 | 108)
3x7 | 7x7 | 12x5 | s5x4 [[9x1l et . . ———
7| 4| 21|28]35] 424956 63]70[77]84]
8 x4 3x6 3x9 II'x5 6x7 L A A A A A A A
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f )
write a symbol <, > or = 75 7 | 5 . factor pairs of @
exi (60 75]@ || B0 750 €
@ (75 < 90]exsxa || B0 15 1.and 75
75 xw00 7/ 5 0 O
5x10x5 [250 > 22}3)(@ 75+|00' | 0;7 5I 3 and 25
@+ 150 L225 < 240 20x6x2 5 and 15
— x@cm—" ) @cm ,
2x9x5 [ 90 > 75}@ f
What is_fhe perimeter of What is the
@ [(55> 28] || eu ETn 2] s k
= 300 + 150 4 x 75cm Write at least 6 questions with the
3x7Tx2 @ - 1o
x7x ‘ 42 < 65 )| = 450cm = 45m J, - 300cm = 3m answer of@
.= . 4 _ l8r3or18%
/5 1= 7 75 4= o Circle the numbers which are smaller than 75 There are many
A .~ _ 37rlor37% . .
75 3= 25 75 2= " 0% XXX (30 v osll W en C (100) different lc;ue.s‘rll(ons you
- . ¢ = l2r3ori23 cou ICK.
|75 8= o393z ({FH T6= o5 | LXXXI(81) L ol [ xXxiza)| [ LVii(5s) P
5 or 7% check your questions.
75 <10="7 ir 7;2 75 9= 8383 XXXI(31) LXII (62) L (50)] XCIX(99) Y q
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ seventy six o | e [24]32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan | 6 ] 12 1 18 ‘ I 30 36 I 48 h4 60 | 66 772 I

7x8 |Ux2f] exe |(lox8) 8x: o | 18 |27 36[45 54[63 72|81 90 | 99 | 108)

3x7 | 7x7 | 2x5 | s5x4 [[9x 1l et . . ———

8 x 4 3x6 3x9 x5 6x7 L7 A ' A21A28135A42149A56]\63A70[77‘.,84]
[ Work out each side compare them and ) Th | H | T Uet h Write some ( A

10x3x2 {60<76] 76 * 10 7/ 6 0 76
[[76<9 Joxsns ||| BO20 ZE L and 76 @
L

write 2 symbol <, > or = 76 7 6 factor pairs of

250 > 228 3« @ - o0 “o0+v7 e |l 2and38

226 « 240675“2 ‘_hcm_ﬁ " @ 4 and 19 @

2x9x5 [ 90 > 76J What i the oeraeter of
at is the perimefer o What is the
this rectangle? . i
20 [ 56 > 28 |7x2x2 || 21597 (3 76) s square? :
3% 7x2 ‘ 42 < 66 .10 =304 + 152 J' 4 x 76¢cm Write at least 6 questions with the
J | = 456cm = 4.56m = 304cm = 3.04m answer °f
/6 = 1=7 76 4= Circle the numbers which are smaller than 76 There are many
76 3= o253 |(76) 2= 38 XXX (30 sl W en C (100) different questions you
- 9rdor9% - could pick.
| 76) <8 = roro;5 76 6= 12r4or122/3 | LXXXI(81) Ll (51) LXXIV(74 LVIII(58) wap

76 5= 15"::1";; V5 |76 ~7= 1or6or106/7 XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classmate to

76) < 10="""0" 1G6) 9= saosan XXXI3nl  LXI (62) Ls0)]  XCIX(99) check your questions.

\, J \, J
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Write @ in words Complete the sequence of mulfiples and circle the ones which are larger than @
~ seventy seven o | e [24]32 I 4oI 48 |56 | 64| 72 80| 88 %]
Circle the facts bigger ihan@ 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72

7x8 |[|nx12]] ex8 |[[lox8]|| 8x3 ( ) 1 ) |
<6 |(Uix2]] exs ||10x8]| 8« o | . |27 36[45 54[63 72 [ 81 90 | 99 [108
3x7 | 7x7 | 2x5 | 5x4 ||9xl S » > )
7 | 21]28]35]42]49] 56| 63|70 77] 84
8 x4 3x6 3x9 x5 6 x7 L A A A A A L
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some
write a symbol <, >or = 77 | 7 | 7 . factor pairs of
10x3x2 { 60 < ]@ 77 * 10 7,7 0 77
+ 10 1
@ (77 < 0] exsxs || X A 1and 77
77 x100 7/ 7, 0 O
5x10x5 [ 250 » 231}3)(@ 77+|00' | 0;7 7I 7 and 11
@+|50 { 27 < 240 20x6x2
DE— x@cm—" . @cm
2x9x5 [ 90 » 77J@ f
What is the perimeter of What is the
this rectangle? erimefer o
@ 20 [ 57 > 28 |7x2x2 || ou1b8 GxTn) | | el ,
= + ite at least 6 questfions with the
3x7x2 | ]@ 1o 308 + 154 4 x 77cm Wri q
\ x7Tx 4?2 < 67 ) = 462¢m = 4.62m J, = 308cm = 3.08m answer of
. _ . - 19rl or 19%
1 =7 7 4 or 19.25 Circle the numbers which are smaller than 77 There are many
A _ 38rlor38% . .
77) 3= wreoases (g7 2= 0 XXX (30 v osll W en C (100) different questions you
.8 = 95or L6 = could pick.
| 77) 8= 950r95/8 |(F7) ~6= 1250012 5/6 | LXXXI(81) LI 51| LXXIV(74]| LVII(58) P
r2or152/
77 5= 15 jr 15:’ 2/5 77 7= 1 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
7 or . check your questions.
77 <l0="7 ; 7;7/ O 177 +9= sas5orssm XXXI (31) LXI1 (62) L(50)) XCIX(99) yourq

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.

RRB5A



Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ seventy eight o | e [24]32 I 4oI 48 | 56 64I 72| 80 88 96 |
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 h4 60 | 66 72 I

‘. .. . r, . —
7x8 |[|lIx12|]| 6x8 |[Jlox8] 8x3 ( | 1 |
<8 | [Ux )] ex x8] 8x o [ 18 |27 36[45 54[63 72|81 90 | 99 | 108)
3x7 | 7x7 | 12x5 | 5x4 |9xlll —————— * * o
AL [ 35] 42] 49] 56 ] 63 ] 70| 77 ] 84]
8 x 4 3x6 3x9 II'x5 6x7 L A A 21J_28 35A42 49A56 63A7O 77 ] 84
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, > or = 78 | 7 8 | factor pairs of
10 x 3 x2 { 60 < 73]@ 78 x 10 7, 8 0 78
[78< 90 | 6xsx3 ||| L8 70 718 1and 78
78 x100 7/ 8 0 O
5x 10 x5 [250 > 234}3x 28 - 100 o0+ 7 | 8 2 and 39
.+|50 228 <« 240 20x6x2 2
@ L 5 xcm—" cm 3and 26
2x9xs [ 90 > 78 (@D S T 6 and 13
What is the perimeter of What is the an
this rectangle? erimefer o
20 [ 88 > 28| 7x2x2 || ou1be)i(px7e) S| | emeleref :
372 —}. o - 312 + 156 4 x 78cm Werite at least 6 questions with the
k x7x ‘ 42 < 68 @ J | = 468cm = 4.68m = 312cm = 3.12m answer of
_ o4 —  19r2or19% )
/8 < 1=7 78 4= or 19.5 Circle the numbers which are smaller than /8 There are many
78) 3= 2 78 2= 3 XXX (30 LV (55) X! (61) C (100) different questions you
. _ 9r6or9: . _ i
(78 8= " o 78 6= 13 xxien|  u el wxxivea] [ Lvinss) could pick.
78 =+5-= 15"03r°1'”5.1: % 178 <7= 1ernyz XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classmate fo
78 <10="057"" |78 9= swoses XXXI3nff  LXI (62) Ls0)]  XCIX(99) check your questions.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ seventy nine o | e [24]32 I 4oI 48 | 56 64I 72| 80| 88 ] 9% |
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72 I

‘. .. . r, . —
7x8 |[|lix12]| 6x8 |[|lox8] 8x3 ( | 1 |
<8 | [Ux )] ex x8] 8x o [ 18 |27 36[45 54[63 72| 81 | 90 | 99 | 108]
3x7 | 7x7 | 2x5 | Sx4 ||9x Il —————— * > o= >
7 | v fet]es[35]42]49]56] 3] 70] 77 4]
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49A56 63A7O 77 ] 84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, >or = 79 | 7 | 9 . factor pairs of
10x3x2 { 60 < ]@ 79 x 10 7, 9.0 79
= |0 71
[79< ]6x5x3 79 ? 1and 79
79 xw0 7/ 9, 0 O
S5x 10x5 [ 250 > 2313)‘. 79 < 100 O+« 7 9
+|50 { 29 < 240 20x6x2
D E— Y cm—*, B cm
2x9x5 [ 90 > 79J f ]
What is the perimeter o'F What is the
this rectangle? erimefer o
20 [ 59 > 28| 7x2x2 || a1 GxTe) S| | el :
1 7x2 [ J. 0 - 316 + 158 4 x 79¢cm Write at least 6 questions with the
x 7 x 42 < 69 @ ) = 474¢cm = 4.74m J, = 316¢cm = 3.16m answer of
= | = .4 = 19r30r19 3/4
79 -+ 7 79 4 or 19.75 Circle the numbers which are smaller than 79 There are many
. _ . _  39rlor39% . .
79 3= aror26us (79 v2= P XXX (30 LV (55) X! (61) C (100) different questions you
+8 = 9r7or + 6 = could pick.
79 +8= 970979 | (7Q) =6 fartor 13 1/6 | LXXXI(81) LI 51| LXXIV(74]| LVII(58) P
. — 15r4 or 154/5 . —
79 +5= i 79 =7 = 1r2ort12/7 XL (40) CX (110) XCl (91) XXXIX(39) Ask a classma‘re‘ fo
79 <10="°"7Y0 1G9l 9= srass XXXI3n| X1 (62) L(50)]  XCIX(99) check your questions.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ eighty o | 16 [ 24] 32 I 4oI 48 | 56 64I 72| 80| 88| 96
Circle the facts bigger ihan L 6 12 L 18 I 30 36 I 48 B4 | 60 | 66 | 72
7x8 |Ux2)) exe | loxs | 8x: o | 18 |27 36[45 54[63 72|81 90 [ 99 [108
3x7 | 7x7 | 12x5 | sx4 [|oax1l 0 > * 9 v
7 14
8 x 4 3x6 3x9 1% 5 6 x7 L A A Zlhzsl35A4ZI49A56163A70177184]
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, > or = 80 | 8 | 0 . factor pairs of
10x3x2 { 60 < 80] 80 x 10 8 0 O 80
[80<9 ]6x5x3 _Zg_:ZO sl ol o 2.0 1 and 80
X
5x10x5 [250 > 240]3)( 80+|00. | 0;8 OI 2 and 40
+|50 {230 < 240 20x6x2 4 and 20

— "C""—'T ‘ °”‘ : 5 and 16
7x2x2

What is the per‘ime:el" of What is the
this rectangle? perimeter of

(2x160)+(2x80) cm this square? 8 and 10 -
= 320 + 160 J' 4 x 80cm Write at least 6 questions with the
3x7x2 42 < 70 _IO answer‘of

) | =480cm = 4.8m = 320cm = 3.2m
80) ~ 1= s0 80 ~4= Circle the numbers which are smaller than 80 There are many
80 +3=2r20r262/3 |(8Q 2= 40 XXX (30 LV (55) X1 (61) C (100) different questions you
80 ~8= 10 80 ~6= wr2or13y3 |mxmmn}==:7;% LXXIV(74][ LVII(58) could pick.
80 5= 1 80 7= tr3ori13/7 XL (40) CX(110)  XCI(91) | [ XXXIX(39) Ask a classmate to
80 +10=s 80 9= srsorsssm XXXI3nff X1 (62) Loy Xcix(o9) check your questions.
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Write in words r Complete the sequence of mulfiples and circle the ones which are larger than 1
~ eighty one B 24: 32| 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bisserihan 6 12 18 I 30 | 36 I 48 54 | 60 | 66 ﬁ
7x8 || lIx )| exs | 0x8 | 83 ||| { 5 | i :27:.36[45A54163‘:72:81 90 | 99 108
Ix7 Tx7 12 x5 5x 4 9 x Il - ~ ~ > - - ~
8 x 4 3x 6 3x9 11 x5 6 x7 k7 A a A21JL28135A42149L56,L63170177184]
[ Work out each side, compare them and | Th H| T | U®T [ h Write some | [

write a symbol <, > or = 81 8 1 factor pairs of

[60<81] gl xo | 8 1 o] 81

+ 8¢ 1

[[ 81 « %6x5x3 _lex:;o s 1 ol o 1and 81
l

0 x 3 x2

81+|oo' " 0ov 8 1 3and 27

+|50 231 < 240 20x6x2 - — ' 9 and 9
— 7 x.cm—" B cm N
2x9x5 [ 90 » 81J @ f ]
What is the perimefer o'F What is the
@) (61> 28)7x2x2 || Guigh Zhey | | e
= 324+ 162 4 x 81lcm Write at least 6 questions with the
3x7Tx2 . - 10
42 < 71 @ J | =486cm = 4.86m J: = 324cm = 3.24m answer of
L] = -4 = 20rl or 20%
81 +1 1 81 4 or 20.25 Circle the numbers which are smaller than 81 There are many
; _ . - 40r1 or 40% . .
81 3= 2z 81 +2 s XXX (30 LV (55) X! (61) C (100) different questions you
.g= L g = 13r3ori3i could pick.
|81 +8= wriorrovs ((BL) “6= T 55 | xxxisn| U el wxxivaa] [ Vi ss) P
81) +5= "oV (81) +7= maoruas XL (40) CX(110)  XCI(91)| [ XXXIX(39) :Skka classmate to
r1 or . check your questions.
81 +lo= ®1oSV0 gy ~9= XXXI3| X1 (62) L(50))  XCIX(99) your question
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ eighty two o | e [24]32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 ||lIx12]| 6x8 | 10x8 | 8x3
<8 |[Ux 2] 6x X8 | 8x > | 18 [ 27|36 ] 45] 546372 81]90]99]108
3x7 | 7x7 | 12x5 | sx4 |[Jox1l p—————— g — >
AR EIESED | 70] 77) 84
8 x4 3x6 3x9 II'x5 6x7 \ A A A 8 35A4 49L56,L63 70| 77 ) 84
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 82 | 8 | 2 . factor pairs of
10 x 3 x2 { 60 < 82] 82 x 10 8/ 2 0 82
+ 10 1
[82<9 ]6x5x3 82 812 1 and 82
82 x100| 8/ 2| 0 O
sx0xs (250 > 246 3x@) || g5 - 0o ol 812 2 and 41
+ 150 {232 < 240 20x6x2
— 2x cm—*, cm
2x9x5 [ 90 > 82J f
What is the perimeter of@ What is the
this rectangle? erimefer of
20 [ 62 > 28 |7x2x2 || o168t (Gx82) | | Femeers ,
= 328 + 164 4 x 82cm Write at least 6 questions with the
3x7x2 . - 10
x 7 x 42 < 72 @ ) - 492¢m = 4.92m J, = 328cm = 3.28m answer of
i _ N - 20r2 or 20%
82) - 1= e 82 4 or 20.5 Circle the numbers which are smaller than 82 There are many
82 3= emior27y3 |(82 2= 4 XXX (30 [ v (55)] X! (61) C (100) different questions you
. g — 10r2or10% . = COUld |Ck
182 8= " o 82 6= Braor3y3 LXXXIg1y| LI 51| LXXIV(74]| LVIII(58) P
82 5= lérfrolr‘éli 2/5 82 ~7 = 1UrBorll5/7 XL (40) CcX (110) XCl (91) XXXIX(39) ASk a CIGSSI'T\GTe to
82) +10= "T85 (@5} -~ 9= suaous xxxioll ez Loy  xeix(o) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.




Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ eighty three o | e [24]32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[Jnx12]| 6x8 | 10x8 | 8x3 ( ) 1 | | )
X8 ||lx 2f| 6x X8 | 8x > | 18 [ 27|36 ] 45] 546372 81]90]99]108
3x7 | 7x7 | 2x5 | 5x4 ||9xIlI p—————— * o= -
7| 4| 21|28[35] 424956 63]70]77]84]
8 x4 3x6 3x9 x5 6 x7 L A A A A L A
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 83 | 8 | 3 . factor pairs of
10 x 3 x2 { 60 < 83] 83 x 10 8/ 3 0 83
@3 [ 83 < 90 exsxs || 230 513 1 and 83
83 xlo 8/ 3, 0 O
5x10x5 [250 > 249]3)‘ 83 + 100 O+ 8 3
+|50 {233 < 240 20x6x2
— 2x cm—, ) cm
2x9x5 [ 90 > 83} f
What is the perimeter of@ What is the
this rectangle? erimefer o
20 [ 63 > 28 |7x2x2 || 2x166)s(ax83) | | Pl ,
= 332+ 166 4 x 83cm Write at least 6 questions with the
3x7x2 @ - 10
\ x7Tx 42 < 73 ) - 498cm = 4.98m J, = 332cm = 3.32m answer of
( o . 4 _ 20r3or 203 ) ]
83 < 1=8 83 4= or 20.75 Circle the numbers which are smaller than 83 There are many
. _ . _ 41rl or 415 . .
83) 3= emeoreress (83 2= o7 XXX (30 [ v (55)] X! (61) C (100) different questions you
.8 = 10r3or L6 = could pick.
83 +8=103cri03% |(83) +6= mrsortssie uxxisty| U syl wxxivza] [ Lvinss) P
83 +5= 16?,401;.1: 3/5 83 7= iir6ortles7 XL (40) cX (110) XCl(91) XXXIX(39) Ask a classmate to
rsor i .
83 < 10="CT8Y0 (@3 9= srous xxxian|| ezl Lsoy)  xexcog) check your questions
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ eighty four o | e [24]32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |l1x12]| 6x8 0x8 | 8x3 ( ) 1 | ) |
<6 || (W) 60 || Bt | G o [ e |27 36[45 54[63 72 | 81| 90| 99 | 108
3x7 | 7x7 | 12x5 | 5x4 |[9x1l ——————s » = —
AL [ 35] 42] | 70]
8 x4 3x6 3x9 IIx5 6 x7 \ A A 21JL28 35A42 49L56A63 70 77L844
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f )
write a symbol <, >or = 84 | 8 | 4 . factor pairs of
10x3x2 { 60 < 84] 84 x 10 8/ 4 O 84
@ ( 84 < 90 6x5x3 _81‘::20 e 2'4 1 and 84
84 «x
sx0xs (250 < 252 3x@9) @ - oo ol sl a 2 and 42
+|50 {234 < 240 20x6x2 3 and 28
— 2 xcm—"T . .Cm R
Zx9x5 [ 90 > 84 J What is the perimeter of WhThe 4 and 21
this rectangle? (g:) erimefer o
20 [ 64 > 28| 7x2x2 || ouled) s p Xt S| | prmeler o 6and 14 |
1 7x2 . 0 - 336 + 168 4 x 84cm Write at least 6 questions with the
xix 42 < 74 @ J | =504cm = 5.04m J’ = 336¢cm = 3.36m 7 and 12 answer of @
84) < 1= & 84 4= 4 Circle the numbers which are smaller than 84 There are many
84 3= 28 84 2= 4 XXX (30 [ v (55)] X! (61) C (100) different questions you
. _ 10r4or10% . _ .
84 - 8= 05 84 ~6= 1 . LXXXI(81) L 5| WxXxivza][ LVII(5s) could pick.
84 5= "“ToUY 84 7= XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classmate to
84) < 10= "85 @A) L9 ameous xxxianll el Lso)]  Xeixoo) check your questions.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~— eighty five o | 16 [ 24] 32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan | 6 12 | 18 I 30 36 I | 48 h4 | 60 | 66 772
7x8 |UxRf| exe | lox8 | 8x3 o | 18 |27 36[45 54[63 72 | 81 ] 90 | 99 [108
3x7 | 7x7 | 2x5 | Sx4 ||9xIl I=——t===_=uu==_ . o= —
7 14
8 x4 3x6 3x9 II'x5 6x7 L A 4&21JL28135A4ZI49L56,L63170177h844
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, > or = 85 | 8 | 5 . factor pairs of
10 x 3 x2 [ 60 < 85] 85 x 10 8/ 5 0 85
€ [ 85 < 9 ]6x5x3 _22*:20 Gt 1 and 85
X
5x 10x5 [ 250 <« 255 3 88 - 00 "o+ 8 B 5and 17
+|50 1235 < 240 20x6x2 ' — '

— @ 1| —@"
[ J What is the perimeter of@ What is the

this rectangle? imet £

- 720 7 perimefer o

20 [ 65 > 28] 7x2x2 || auir0)s(Bx85) S this square?

.
m 'd
3Ix7x2 42 < 75 -0 =340 + 170 J' 4 x 85cm Write at least 6 questions with the
= 510cm = 5.1m = 340cm = 3.4m answer of

S

89 1= 85 4= 0% Circle the numbers which are smaller fhan ©2 There are many

85 3= csriorcsys |(gp) 2= oA XXX (30 [ = (55)] X (D) C (o00)| | different questions you
| 85 8= 1050r105/8 |(8F) + 6= 1artor1a1/s | LXXXI(81) 1 on] [ DXVea) [ Vies) could pick.

85 5= 17 85 7= lelori2y7 XL (40) CX(110)  XCI(91) | [ XXXIX(39) Ask a classmate to

85 +10= "2t @B) ~ 9= ouosus ooaan|( vinez](_Lso) Xoxesy|| Check your questions.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~— eighty six o | 16 [ 24] 32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 h4 | 60 | 66 | 72
7x8 ||lixR2)] ex8 | lox8 | 8x3 o | 18 |27 36[45 54[63 72 | 81 [ 90 | 99 | 108
3x7 | 7x7 | 2x5 | Sx4 ||ox1l I=——t===_=uu==_ . o= —
7 14
8 x4 3x6 3x9 II'x5 6 x7 L A 4L21JL28135A4ZI49L56A63170177k844
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, >or = 86 | 8 | 6 . factor pairs of
10 x 3 x2 [ 60 < 86] 86 x 10 8/ 6 O 86
[86< ]sxSxa _8:_::20 R 2‘6 1 and 86
86 x
5x 10 x5 [ 250 <« 2583 86*'00. 0+ 8 6 2 and 43
+ 50 | 236 <« 240 20x6x2
) oS [ 90 N 86} ¢ 2XC1’T‘|—I~T ) Cm >
What is the perimeter of@ What is the
this rectangle? .
20 [ 66 > 28| 7x2x2 || oxirzyizxse) S| | s :
=344+ 172 4 x 86cm Write at least 6 questions with the
3x7Tx2 - 10
X [ 42 < 76 J )| = 516cm = 5.16m J’ - 344cm = 3.44m answer °f

86 1= & 86 +4= "5 Circle the numbers which are smaller fhan SO There are many

86 3= 28r2or282/3 (86 2= 43 XXX (30 [ v (55)] X! (61) C (100) different questions you
86 “8= o 1%r7_5 86 6= mrzeornz/s LXXXI(81) L ey|| wxxivzal| Lviiss) could pick.

86) 5= """ 77 86 7= weonar XL@o)| X1y Xeron| [ XXXiX(39) Ask a classmate to

86 - lo=":"%2"" ge) ~9= wseross XXXispf| X1 (e2) Loy Xcix(o9) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ eighty seven o | e [24]32 I 4oI 48|56 | 64| 72| 80| 88 9
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[|lix12] 6x8 0x8 | 8x3 ( ) ) ) | |
<o |[lixiz] exa | wxe | ox o | 18 [ 27 36[45 54[63 72 | 81 | 90 | 99 | 108
3x7 | 7x7 | 12x5 | s5x4 |J9x1 0 - = ——
7 | e1]28]35]42]49]56]63]70] 77 84
8 x 4 3x6 3x9 II'x5 6x7 L A A A A A ) L J
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, > or = 87 | 8 | 7 . factor pairs of
10 x 3 x2 { 60 < 87] 87 x 10 8/ 7 0 87
@) [(87 < 90 exsxs || 20" 517 1 and 87
87 xlo 8/ 7, 0 O
sx10xs (250 < 261) 3x(8) © - oo TR 3 and 29
+ 150 {237 < 240 20x6x2
— 2 x.cm—" cm
2x9x5 [ 90 > 87} @ !
What is the perimeter of@ What is the
this rectangle? erimefer o
20 [ 67 > 28] 7x2x2 || oumaTEXen S| | e :
=348+ 174 4 x 87cm Write at least 6 questions with the
3x7Tx2 . - 1o
k x 7 x 42 77 @ )| =522em = 5.22m J, - 348cm = 3.48m answer of
L= -4 = 21r3 or 213/4
87 = & 87 4 or 21.75 Circle the numbers which are smaller than 87 There are many
. _ 43rlor 433 . .
87 3= 2 87 2 o 435 XXX (30 [ v (55)] X! (61) C (100) different questions you
S8 = 107 L= l4r3orisd could pick.
87 8= 10r7or107/8 |(87) +6= or 145 LXXXI(81} LI G| LXXIV(74]] LVII(58) P
17r2 or 17 2/5
87 +5= 174 87 7= 12r30r123/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmafg to
87 +lo="°7"° 0 @7) +9 = orsor92s3 XXXI3nf| XN (62) L(50)]  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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88 Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ eighty eight o | e [24]32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 h4 | 60 | 66 72

7x8 ||1lx12]] 6éx8 | 10x8 | 8x3 ( I s | | | 1

x8 |(lx2]| ex8 | lox8 | 8x > | 18 [ 27|36 ] 45] 546372 81]90]99]108
3x7 | 7x7 | 2x5 | sx4 |[oxu —_— 0 ¢ — o —
Al [ 35] 42 ] [ 70]
8 x4 3x6 3x9 x5 6 x7 L A A 21JL28 35A42 49L56A63 70 77A844
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f )
write a symbol <, > or = 88 8 8 factor pairs of
10x3x2 { 60 < ] 88 x 10 8 8 O 88
+ 10 1
@) (88 < 90 exsxs ||| 2 81 8 1 and 88
88 xlo 8/ 8 0 O
S5x l0x5 [ 250 « 264}3)(. 88+|00. | 0;8 8' 2 and 44
+|50 1238 <« 240 20x6x2 4 and 22
— 2x cm—, ) cm
2x9x5 [90>88} ! 8 and 11
What is the perimeter o'F What is the an
20 | 68 > 28] 7xaxz || @xig) Exen 52| e
38) = 352 + 176 4 x 88cm Write at least 6 questions with the
3x7x2 42 < 78 . 10 ) = 528cm = 5.28m J: = 352cm = 3.52m answer of
88) 1= ss gg 4= Circle the numbers which are smaller than 88 There are many
88 3= 2ortor291/3 | (G +2 = 44 XXX (30 [ LV (55)] X1 (61) C (100) different questions you
- L E = 1rdor could pick.
88 “&-" 88 6= oz L ixxxierf| U ][ wxxivza] [TV sy Hep
88 +5= 17’“:[‘01'"7.167 3/5 88 7 = 12rd4or124/7 XL (40) cX (110) XCl (91) xxx|x(39) Ask a classmate to
88 +10="2754 (@g) +9= srero7s xxxian||  Xie2y|__Lso))  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA



Write in words Complete the sequence of multiples and circle the ones which are larger than
~— eighty nine o | 16 [ 24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 ||x12]| 6x8 | 10x8 | 8x3
<8 |[UIx2f| ex8 | loxs | 8x > | 18 [ 27|36 ] 45] 546372 81]90]99]108
3x7 | 7x7 | 12x5 | sx4 |[|9ox1l =——C———— . == —
A 2| [ 70]
8 x 4 3x6 3x9 1% 5 6x7 L A A A 8 35A4 49L56A63 70 77k844
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write a symbol <, > or = 89 | 8 | 9 . factor pairs of
10 x 3 x2 { 60 < 89] 89 x 10 8/ 9 0 89
+ 10 1
@) [ 89 < 90 sxsxs ||| %2 dal ool 1 and 89
% 89 x 100
5x 10 x5 [250 < Zéﬂn 89 - 100 ot sl 9
+ 50 | 239 <« 240 20x6x2
— 2x cm—, ) cm
2x9x5 [ 90 > 89} !
What is the perimeter of@ What is the
this rectangle? erimefer o
‘20 [ 69 > 28 |7x2x2 @xX178)+ (2 x89) o | | huseeserer :
= 356 + 178 4 x 89cm Write at least 6 questions with the
3x7x2 42 < 79 - 10 , - 534cm = 5.34m J: = 356¢cm = 3.66m answer of
L] = -4 = 22rlor 22%
89 1=® 89 4 or 22.25 Circle the numbers which are smaller than 89 There are many
. _ . _ 44rlor44z . .
89 +3=2rear29e3 (g9 2= " %5 XXX (30 [ v (55)] X! (61) C (100) different questions you
+ g = lrlor <6 = could pick.
89 = 8=ttt {89) + 6= ursar145/6 | pxxistl U eyl [ xxiviza] v ss) P
89) 5= 17r:r01r'7'187 4/5 89 +7= 1250r125/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
89 +10="""8%0 [ @g) ~ 9= amaoss xxxianf| ey Ls0)]  XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
nineT 'S Y a's N A'd Y Ny
~ Y o | e [24]32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[|nx12]] 6x8 | 10x8 | 8x3 ( ) 1 | ) ) )
Gl |1 ; Sl o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 12x5 | Sx4 ||9xIl ——————u 9 = o
7 | 14 I I I
8 x 4 3x6 3x9 x5 | 6x7 L A A 21JL28 35JL42 49A56A63,L70 77L844
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write a symbol <, >or = 90 | 9 | 0 . factor pairs of
10x3x2 { 60 < ]@ 90 x 10 9, 0 O 90
@) (90 = 90]exsxs || 207" 01 O 1 and 90
90 xlo 9/ 0 0 O
5x10x5 [ 250 « 27@3)(. 9O+|00. | 0;9 OI 2 and 45
+|50 240 E}zoxsxz ; Cm 3 and 30
e ® Cm—b
| —@9
Zx9x5 [ 90 J What is the perimeter of What is the 5 and 18
this rectangle? (é:) erimeter of
@ -20 [ 70 > 28] Tx2x2 (2x180)+(2x90) m | | Fins squarer 6and 15 |
- + 4 x 90cm Write at least 6 questions with the
372 . o 360 + 180 q
| X7 42 ¢« 80 &9 J | - 540cm = 5.4m = 360cm=36m| | 9and 10 || snswer of
_ . - 22r2 or 22%
90 1= 90 ¢4 or 225 Circle the numbers which are smaller than 90 There are many
90 3= 30 90 2= XXX (30 [ v (55)] X! (61) C (100) different questions you
. o -~ lr2oril} -l = could pick.
90 8= " s 90 ~¢&= uaxxisf|  u eyl Loavz4] Vi Gs) Hid P!
90 5= 1 90 +7= ter6orize/7 XL (40) CX(110)  XCI(91) | | XXXIX(39) Ask a classmate fo
90 10 =5 90 9= Xxxisn||  WXiezy|_ L))  XCIXo9) check your questions.

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety one o [ 16 [24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[|iix12]| ex8 | 10x8 | 8x3 [ 5 )
x8 [lix ]| ex8 | 10x8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 12x5 | s5x4 |[ox1 — 0 - 9 o
7 | e1]28]35]42]49]56]63]70] 77 84
8 x 4 3x6 3x9 II'x5 6x7 L J A A A A A A L J
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 91 | 9 | 1 . factor pairs of
10x3x2 { 60 < ]@ 91 x10 9, 1, 0 91
+ 10 ¢ 1
[ 91>9o]6x5x3 91 ? 1and 91
91 xloo| 9/ 1| 0 O
5x 10 x5 [ 250 <« 273} 91 - 100 0+ 9| 1 7 and 13
+ 150 { 241 > 240 20x6x2
— 2 x.cm—" cm
2x9x%x5 [ 90 « } @ t
What is the perimeter o'F What is the
this rectangle? erimeter o
- 20 [ 71 > 28 ] Tx2x2 (2x182)+ (2 x 91) = e ey \
=364 + 182 4 x 91cm Write at least 6 questions with the
k Ix7Tx2 42 81 - 10 , - 546¢cm = 5.46m J: = 364cm = 3.64m answer of
.| = . = 22r3 or 22 3/4
91 + | o1 91 4 or 22.75 Circle the numbers which are smaller than 91 There are many
. - _ 45rlor 453 . .
91) 3= sortorsows |(9]) +2= N5 XXX (30 [ v (55)] X! (61) C (100) different questions you
g = Mr3or L6 = could pick.
(@D 8= frerud® (@ *6= triorisie pxxistl U eyl [ xxiviza] v ss) P
91) 5= ®UUBY gy +7= s XL0)|  CX(110)  XCIon)| [ XXXIX(39) Ask a classmate fo
o1 10 = 9"10‘;"9?11/10 91 +9= 10rtor101/9 XXXI(31) LXII (62) L(50)) XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety two o [ 16 [24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 ||1Ix12]] eéx8 | 10x8 | 8x3 ( I s | | | | a1 |
x8 |[lx )| 6x8 | l0x8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 12x5 | s5x4 |[9x1 0 - 9 o
2 EE) 2| |
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49A56A63A70 77k844
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write 2 symbol <, > or = 92 | 9 | 2 . factor pairs of
10x3x2 { 60 < ]@ 92 x 10 9, 2 O 92
+ 10 1
@[92>9o]6x5x3 R o1 2 1and 92
92 xl0, 9/ 2| 0 O
5x 10x5 [ 250 « 276}3)(@ 92+|00' | 0;9 2' 2 and 46
+|50 { 42 > 240 20x6x2 4 and 23
— 2x cm—, ) cm
2x9x%x5 [ 90 « } t
What is the perimeter of@ What is the
this rectangle? erimefer o
@) -2 (72> 28] 722 @189+ @x92) T | | P:gésiliref :
- 368 + 184 X 92cm Write at least 6 questions with the
e Cae e )@x || s ]| SR G
92) <=9 92 4= = Circle the numbers which are smaller than 92 There are many
92 3 =30r20r302/3 (92 2= 4 XXX (30 [ v (55)] X1 (61) C (100) different questions you
. g = lrdorll} L= could pick.
192 8= " s @9 “6= traarisys | LXXXIs1y| LI 5n)| LXXIV(74][ LVIII(58) P
92 +5-= 18riro;‘81.i 2/5 92 +7= 1rlor131/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
92 - l0= 9rzo<:r9?21/5 92) +9= iwrzeri02ss e TR WS XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA



Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety three o [ 16 [24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 ||lx12|]| 6x8 | 10x8 | 8x3 ( [ o5 | o1 |
x8 [|lx ]| 6x8 | 10x8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 2x5 | sx4 ||9xII : — . =—n— Om—
7 | e1]28]35]42]49]56]63]70] 77 84
8 x 4 3x6 3x9 II'x5 6x7 L A A A L A A L J
[ Work out each side, compare them and ) Th T Vet | h Wrife some f
write 2 symbol <, > or = 93 | 9 | 3 . factor pairs of
10x3x2 { 60 < ]@ 93 x 10 3.0 93
+ 10 1
@[93>9o]sx5xa = i 1 and 93
93 x 100 9 0 0
Sx 0x5 [ 250 « 279]3)(@ 93+|00' | 0;9 3' 3 and 31
+ 50 | 243 > 240 20x6x2
— 2 x.cm—" cm
2x9x%x5 [ 90 « } @ t
What is the perimeter of@ What is the
this rectangle? .
@) » (73> 28] 12 || NI RIonT| s ,
= 372 + 186 4 x 93cm Write at least 6 questions with the
- 10
k 3x7x2 42 83 I , - 558cm = 5.58m J, = 372cm = 3.72m answer of
= | = L4 = 23rlor 23%
23 =93 93 4 or 23.25 Circle the numbers which are smaller than 93 There are many
. _ . _ 46rlor 463 . .
93 3= =a 93 2= " as XXX (30 [ v (55)] X! (61) C (100) different questions you
o= 5o ., - I5r30r15% could pick.
1193 +8= Hoorlix® 193 ~6= 7 155 xxxistf| U eyl wxxivza] [ Lviiss) P
18r3 or 18 3/5
93 5= s 03 +7= 13r2ori132/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
93 +10="3"0Y0 (g3) +9= w3arions wxxieoll Lxi ez T XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of mulfiples and circle the ones which are larger than
~ ninety four o [ 16 [24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[|lix12]| 6x8 | 10x8 | 8x3 ( I s | ) | | a1 |
x8 |[l1x ]| 6x8 | l0x8 | 8x o | 18 [ 27 36[45 54[63 72 81] 90 [ 99 108
3x7 | 7x7 | 12x5 | 5x4 |9x||l 0 9 P S —
2 EE) 2| |
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49A56A63A70 77k844
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 94 | 9 | 4 . factor pairs of
10 x 3 x2 [ 60 < ]@ 94 x 10 9] 4 O 94
+ 10 s 4
@[94>9o]sx5x3 R ? 1 and 94
94 x10, 9/ 4| 0 O
+|50 { 44 > 240 20x6x2
— 2x cm—*, cm
2x9x%x5 [ 90 « } t
What is the perimeter of@ What is the
this rectangle? erimefer o
@) (74 > 28] 7x2x2 (2x188)+ (2x94) v | | 'ims squarer ,
- 376 + 188 4 x 94cm Write at least 6 questions with the
7 -
\ 3xT7x2 42 84 ) = 564cm = 5.64m J: = 376cm = 3.76m answer of
L= -4 = 23r2 or 233
24 ! o4 94 4 or 235 Circle the numbers which are smaller than 94 There are many
94 3= srtor3tys (94 2= 47 XXX (30 [ v (55)] X! (61) C (100) different questions you
. g = lréorild L6 = could pick.
94 8= " u; |94 6= vraori523 xxisy]  u eyl wxivza] [ Lvinss) P
18r4 or 18 4/5
94 +5= or 188 94 ~7= 1330r133/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
94 =10 = 9r‘jr‘o;‘9‘ 2/5 94 +~9 = 10r40r104/9 XXXI(31) LXI1 (62) L (50 xc'x(gg) CheCk YOUI" queSTIOHS.

© Eastpoint, NR32 2EX www.teachingconcepts.com

For best results, use Show-me slim drywipe pens and Show-me mini foam erasers.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety five o [ 16 [24] 32 I 4oI 48 |56 | 64| 72 80 88| 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[|lIx12]| 6x8 | 10x8 | 8x3 ( 1 ) | | | )
<8 |[Ix12f] 6xse | lox8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 12x5 | 5x4 |[9x1l p————um—— * s=——u——ug —
A 2| |
8 x 4 3x6 3x9 1% 5 6 x7 L A A A 8 35A4 49A56A63A70 77k844
[ Work out each side, compare them and ) Th | H | T Uet h Write some (
write 2 symbol <, > or = 95 | 9 | 5 . factor pairs of
10x3x2 { 60 < ]@ g5 x 10 9, 5 0 95
+ 10 1
@[95>9o]ex5xa 5 °1 0 1 and 95
95 xl0 9/ 5| 0 O
S5x l0x5 [ 250 « 285]3)(@ 95+|00' | 0;9 5' 5 and 19
+ 50 | 245 > 240 20x6x2
— 2x cm—, ) cm
2x9x%x5 [ 90 « } @ T
What is the perimeter of@ What is the
this rectangle? erimefer o
@) (75 > 28] 75212 @x190)+ @x98) Gy | | Fiveveverer .
=380+ 190 4 x 95cm Write at least 6 questions with the
7 - 1o
IxTx2 42 < 85 ! ) = 570cm = 5.7m J' = 380cm = 3.8m answer of
L= - - 23r3 or 232
29 1= 95 4 or 23.75 Circle the numbers which are smaller than 95 There are many
.9 = . — 47rlor 473 : :
95) 3= sreerstzzs (g 2= rierdn XXX (30 [ v (55)] X! (61) C (100) different questions you
L g = r7or L 6= 1550 could pick.
1195 =8 =Hrerti7/8 119f = 6= trsorss/s xxxisty] U el wxxiva] [ Vi ss) P
95 5= 19 O 7 = 13r40r134/7 XL (40) CX (110) XClI (91) XXX|X(39) Ask a Classma'l'e- to
95) - lo = > 95) <9 = 15105/ wxxi ol L 21 T XCIX(99) check your questions.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA



Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety six o [ 16 [24] 32 I 4oI 48|56 | 64| 72 80| 88 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 | 66 | 72
7x8 |[[lIx12]| 6x8 | 10x8 | 8x3 (o | e [+ [ 155 a1 |
x8 |(x2]| ex8 | lox8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 2x5 | 5x4 |9xlll —————— » —— S m—
7 | 14 | | |
8 x4 3x6 3x9 x5 6 x7 \ A A 21JL28 35A42 49JL56A63A70 77L844
[ Work out each side, compare them and ) Th | H| T Uet | h Wrife some f
write a symbol <, >or = 96 | 9 | 6 . factor pairs of
10x3x2 { 60 < ] 96 x 10 9, 6 O 96
+ 10 1
@[96>9o]ex5xa B i 1 and 96
96 x10 9/ 6| 0 O
5x10x5 [ 250 « 288} 96 -+ 100 O 9 6 2 and 48
@)+ 10 (246 > 240 20x¢x: D 3 and 32
— 2 x.cm—" cm
@
2x9x%53 [ 90 < J What is the perimeter of@ WhThe 4 and 24
this rectangle? erimeter o
- 20 [ 76 > 28 } Tx2x12 (2x192)+(2x96) om Pihis szu‘;ef 6 and 16 >
= 384 + 192 4 x 96cm Write at least 6 questions with the
3x7Tx2 . - 10
x7x 42 < 86 @ ) = 576¢cm = 5.76m J: = 384cm = 3.84m 8 and 12 answer of
26 1= % 9% 4= = Circle the numbers which are smaller than 96 There are many
96 3= 32 96 2= 4 XXX (30 [ v (55)] X! (61) C (100) different questions you
e = L g = could pick.
96 ~8= " 9 ~6= 1 | xxisy]  u eyl wxivza] [ Lvinss) Hid P!
96 +5= 19r10ir1;?21/5 Q6 7= 1350r135/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
96 =10 = 9P60:r9?63/5 96 +9 = 10r6 or 10 2/3 XXXI (31) LXII (62) L (50 xc'x(gg) CheCk YOUI" queSTIOHS.

© Eastpoint, NR32 2EX www.teachingconcepts.com For best results, use Show-me slim drywipe pens and Show-me mini foam erasers. RRBSA



Write in words

-

Complete the sequence of mulfiples and circle the ones which are larger than

~ hinety seven o [ 16 [24] 32 I 4oI 48|56 | 64| 72 80| 88 96

Circle the facts bigger ihan | 6 | 12 | 18 ‘ I 30 36 I | 48 | b4 )i 60| 66 | 72
78 |Wx R 6x8 | 0x8 | 8x3 || {9 | s |27 36[45 54[63 72 | 81 ] 90 [ 99 108
3x7 | 7x7 | 12x5 | s5x4 |[|9x1l 0 ¢ P ——t

8 x4 3x6 3x9 11 x5 6 x7

\. .. AN ..

7 | a1]28]35]42] 49

56 | 63 ,70177 84

g ™

Work out each side, compare them and

write 2 symbol <, > or =

10x3x2 60 < ]@ 97

5x 10 x5 [ 250 < 291]3)(@ &

hA

0
+|50 { 47 > 240 20x6x2
2 x

9x5

[

@[97>9o]sx5x3 _99;
|
|

What is the per‘ime:el" of What is the
this recfan?le- perimeter of

50 . }@ ‘_2xcm—'*T ) cm
}

Th | H T Ue t h Write some
97 9 7 factor pairs of
x10 | 9| 7 o 97
e 17 1 and 97
xlo 9/ 7| 0 O
;100 | 0+ 9|7

19r2 or 19 2/5

Q97 +5= or19.4 Q7 7= 13r60r136/7

- 20 77 > 28 | 7x2x2 (2 x194) + (2 x 97) cm this square?
= 388 + 194 4 x 97cm
3x7x2 . - 10 J,
\ x X 42 < 87 @ ) = 582cm = 5.82m = 388cm = 3.88m

Ll . 4 = 24rlor 24%

97 | o7 97 4 or 24.25 Circle the numbers which are smaller than 97
48r1 or 48%

23 = 32rlor321/3 2 = ¢
97 -3 rior 97 2 or 485 XXX (30 l LV (55)' LXI (61) C (100)
97 8= lrloer21/8 |(QF7) +6 = terlorie Ve LXXXI(81) LI 51| LXXIV(74]| LVII(58)

=

XL (40) cxX(10)|  Xcren | [ Xxxi1X39
97 =+ 10= 9r7°:r9?77/10 97 +9= 1.0r70r107/9 XXXI (31) LXI1 (62) L (50 XCIX(99)

.

J

Write at least 6 questions with the

answer of

There are many
different questions you
could pick.

Ask a classmate to
check your questions.
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J

Write in words Complete the sequence of multiples and circle the ones which are larger than
D ninety eight o | 16| 2432 I 4oI 48| 56| 64| 72| 80 88] 96
Circle the facts bigger ihan | 6 12 \ 18 I 30 36 I 1 48 54 | 60 | 66 | 72
7x8 |[|1xn2|| ex8 | 10x8 | 8x3 (5 [ s [ o= [ 155 a1 |
x8 ||l1x2)| ex8 | 0x8 | 8x o [ 18 [27]36 455463 72] 819099108
3x7 | 7x7 | 12x5 | 5x4 |[9x1l ——————s * = —
7w ]ar]es] 2| |
8 x 4 3x6 3x9 1% 5 6x7 L A A A 8 35A4 49A56A63A70 77k844
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 98 | 9 | 8 . factor pairs of
10x3x2 { 60 < ] g8 x 10 9, 8 0 98
+ 10 1
[98>90]6x5x3 98 )18 1 and 98
98 xlo 9/ 8| 0 O
sx10xs (250 < 294 3x@8) @ - ol o8 2 and 49
@ o (248 > 240] 20x 6x2 7 and 14
— 2x cm—*, cm
2x9x5 [ 90 « } t
What is the perimeter o'F What is the
this rectangle? 9 erimeter o
- 20 [ 78 > 28 ] 7Tx2x2 (2 x 196) + (2 x 98) ~ P SZL‘Zref \
=392 + 196 4 x 98cm Write at least 6 questions with the
7 - 10
\ 3xT7x2 42 88 I ) - 588cm = 5.88m J: = 392cm = 3.92m answer of
L= L 4 = 24r2or 243
28 = o8 98 4 or 245 Circle the numbers which are smaller than 28 There are many
98 +3=32r2or322/3 (Q8) 2= 4 XXX (30 [ v (55)] X! (61) C (100) different questions you
L - l2r2ori2i L= could pick.
. 98 “8= " s 98 +6= terzor161/3 LXXXI(81) LI (51| LXXIV(74 LVIII(58) P
19r3 0r 19 3/5
98 5= b, |98 “7= u xL@o)|  cxquoy[ Xcron| [XxxiXgo) Ask a classmate to
98 = IO - 9r8::::/5 98 = 9 = 10r8 or 10 8/9 XXXI (31) Lx” (62’ I. (50 xc'x(gg) CheCk YOUI" QUZSTIOHS.
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Write in words Complete the sequence of multiples and circle the ones which are larger than
~ ninety nine o [ 16 [24] 32 I 4oI 48|56 | 64| 72 80| 88 96
Circle the facts bigger ihan 6 12 18 I 30 36 I 48 54 | 60 I 66 | 72
7x8 |[[lIx12]| 6x8 | 10x8 | 8x3 (o [ o [ 55 ] 155 a1 |
x8 |Ix2]| ex8 | 0x8 | 8x BENE 36[45 54[63 72 | 81 [ 90 | 99 108
3x7 | 7x7 | 2x5 | Sx4 | 9x |l I=——t===_=uu==_ = g=——u=— 4
anBDB0n 7]
8 x 4 3x6 3x9 II'x5 6x7 L A A A 8 35A4 49A56A63A70 77 844
[ Work out each side, compare them and ) Th | H| T Uet | h Write some f
write 2 symbol <, > or = 99 | 9 | 9 . factor pairs of
10x3x2 { 60 < ]@ 99 x 10 9, 9 0 99
+ 10 1
[99>90]6x5x3 99 919 1 and 99
99 xl0 9/ 9| 0 O
5x10x5 [ 250 « 2913)(@ 99+|00' | 0;9 9' 3 and 33
+|50 249 > 240] 20x6x2 , 9 and 11
-— ® cm——* cm
2x9x%x5 [ 90 « } t
What is the perimeter of@ What is the
this rectangle? erimeter o
- 20 [ 79 > 28 ] 7Tx2x2 (2 x 198) + (2 x 99) — P SZL‘Zref \
= 396 + 198 4 x 99cm Write at least 6 questions with the
3x7Tx2 . - 1o
x 7 x 42 < 89 @ ) = 594cm = 5.94m J: = 396cm = 3.96m answer of
_ L 4 = 24r3or243
29 1= 9 99 4 or 2475 Circle the numbers which are smaller than 29 There are many
. _ . _  49rlor49; . .
99 3= = 99 2= 7 s XXX (30 l LV (55)' LXI (61) ¢ (00)| | different questions you
.q= L g = ler3oriel could pick.
1199) +8= wrseori23/8 (99 *6= s xxxisf|] L eyl wxxivza] [ Lviiss) P
99) 5= 19r;‘rrolr;: 4/5 Q9 +7 = t4rlor171/7 XL (40) cX (110) XCl(91) xxx|x(39) Ask a classmate to
99 - 10 = 9r90:r9?99/10 99) 9= u wxxieoll Lxi ez T XCIX(99) check your questions.
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